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Which of the following sentence is correct ?
(1) Rahim and I Playing chess

(2) Rahim and I are playing chess

(3) Iand Rahimis playing

(4) Rahim and I was playing chess

2. Choose the correct sentence :

(1) People America much football south very love in
(2) South America people love football much very

(3) People of South America love football very many
(4) People in South America love football very much

3. | Where Ram live ?
(1) does (2) are
3) do : 4 1is

4, | Which of the following sentence has an error ?
(1) Iwent for a walk with some friends
(2) He is wiser than me

(3) The master tested the boy if he could read English
(4) 1shall see whether the brakes work well

5. | We would never have had the accident if you

so fast.
(1) Wouldn't been driving (2) Hadn't been driving
(8) Had driven (4) Wouldn't drive
6. | English food is often considered too ____ for foreigners' tastes.
(1) Plane (2) Plan
(3) Plain (4) None of the above
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7. | Pick up the correct synonyms for the word 'LIMP".
(1) Falter (2) Kneel
(3) Bend (4) Stoop

8. Choose the one which be

st expresses the meaning of the word

'GRUESOME'.
(1) Hateful (2) Painful
(3) Tragic (4) Frightful
9. | Words that sound like one another but have different meanings are
called ?
(1) Soundnyms (2) Antonyms
(3) Homonyms (4) Monotonous

(1) She asked me could bring her book that night
(2) She asked me to bring her book that night

(3) She had asked me to bring her book théf rfight
4) She asked me to bring her book tonight

10. | Change into indirect speech; Raisa : "Could you bring my book tonight" ?

11. | What is the other name for Primitive Germanic ?
(1) Esperanto (2) Italic
(3) Gothic | (4) Teutonic

12. | Language is a social phenomenon.
(1) True (2) False
(3) Both (1) and (2) (4) None of the above

PG-EE-2022 (Library & Information Science) Code - A
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13. | Which of the following word is a Portmanteau word ?
(1) Nickname (2) Electrocute
(3) Enthusiasm (49 Convivial
14. | The term "idiom", derived from Greek, means
(1) Standing apart on its own
(2) The words of the wise
(8) Having a great idea
(4) A state of being
15. | The study of the historical evolution of the meaning of words is called
(1) Semiotics ' (2) Phonetics
(3) Articulation (4) Semantics
16. | 'Kindergarten', an English word, is derived from which language ?
"l@) Latin (2) German
. (8) Norse (4) Italian
17. | The quality of sounds that makes it possible to judge their "highness" or
"lowness" is :
(1) Tone (2) Pitch
(83) Musical (4) Loudness
18. | How many distinctive speech sounds or phonemes are there in Enghsh
(Received Pronunciation of England or RP English) ?
(1) 42 (2) 4
(3) 46 4 48
19. [ Identify an é.bstract noun from the words given below :
(1) iron (2) cattle
(3) thomas (4) pain

PG-EE-2022 (Library & .Information Science) Code - A
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20. | Cannon had unique qualities it was used widely in ancient
times.
€)) such, that (2) such, so
(3) that, since (4) that, that
21. | Which of the followiﬁg gives the middle most observation in a series ?
(1) . Average (2) Median ' |
(3) Arithmetic mean (4) Mode
Prefefae & & @-ar 4 & wed qe & @A JeH B 8
1) e @) =i
(3) T A (4) TFTF
22. | How many can meaningful English words be formed with the letters ESRO
using each letter only once in each word ?
(1) None (2) Onme
(3) Three (4) Two
&Rt ESRO %1 SN F%@ R ordqel o o o Wt & R oo oie
9% 9% ¥ Pad & I} AW ?
(1) #E T @ T
1® dF @ A
23. | Choose the missing terms from the given alternatives DHL, PTX, BFJ ?
(1) KOS (2) NRV
@ CGK @) OIK
R ™ fedt DHL, PTX, BFJ ? ¥ ywiie & &M & R 9f3
1) KOS (2) NRV
3 CGK (4) OIK
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24.

A girl introduced a boy as the son of the daughter of the father of her
uncle. The boy is related to agirl as:

(1) Brother .~ (2) Son-in-law
(3) Son | (4) Uncle

O ST I O a0 1 o ofed @ Rt 1 B 3 @ B = F qReE R
I& S IH SiH ¥ I e gefad o a

1) % ‘ @) TR
B) A (4 e

25.

'Introducing Rakesh to her husband, the woman said, "His brother's father
is the only son of may grandfather”. The woman is related to Rakesh as :

(1) Aunt - _ (2) Mother
(3) Sister (4) Daughter

T B IR Y g o oy A aRer I wa, Coud WE F Rr A @ @
A 33 R 1 I AR & R A qE W §

1) e ‘ @) =
@ & @ T
26. | Find binary equivalent to 85 :
(1) 1101010 ‘ (2) 1010101 .
(3) 1010110 (4) 1001101
85 % IATY JEANF TR PO ;- |
(1) 1101010 ' (2) 1010101
(3) 1010110 el (4) 1001101
27. | Pick out the odd one from the following Word Pairs.
(1) Birds and Chirp (2 Dogs and Cook
(3) Elephant and Trumpet (4) Lion and Roar
P o=gmlt ¥ & o A Bifed -
(1) Birds @1 Chirp (2) Dogs @ Cook

(3) Elephant @1 Trumpet (4) Lion 9T Roar

PG-EE-2022 (Library & Information Science) Code - A
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28. | Find the missing numbers : 101, 103, 107, 109, ___

.
) ) ¢

(1) 111,115 - (@) 113,127
3) 113,117 4 111,121
g ofl B S I ¢ 101, 103, 107,109, _, . :
(1) 111,115 2) 113,127
3) 113,117 (4) 111,121

29. | Aditya walked 15 m towards the south and took a right turn, and walked

3 m ; he took a right turn again and walked 15 m before stopping.
Which direction did he face ?

(1) East | (2) West‘
(3) North (4) South

aiey <fer t ofR 15 7. e o R o gEbd 3 7. =W ; d@ I A O
gt Tohd O TeQ 160, @, o9 98 By Ren & g B @1 @ 7

Q @) =M
3 TN (4) TR

30. | Atrain travelled at an average speed of 100 km/hr, stopping for 3 minutes
after every 75 km. How long did it take to reach its destination 600 km

from the starting point ?
(1) 6hours24 mins (2) 6hours 21 mins
(3) 6 hours 18 mins (4) -6 hours 27 mins

TH o9 100 .38 SfGeT 3 olved TRy & s B, o e 75 B, o 3 e & o
w5 ¥ 95 o9 S @ ¥ 600 FA. # g8 7@ R A R @ o 7

(1) 6uT24FFe (2) 6%qe 21 e
(3) 6He 18 fiFe (4) 69 27 e

PG-EE-2022 (Library & Information Science) Code - A
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31. | The monthly incomes of X and Y are in the ratio of 4 : 3 and their monthly

expen§es are in the ratio of 3 : 2. However, each saves ¥ 6,000 per month.
What is their total monthly income ?

(1) 728,000 ~(2) 742,000

(3) 756,000 (4) 784,000

XWYﬂ%maﬂquﬁ4:3%wmmmma§mﬁ3:2%l
aaﬁ?e,oooqﬁq@m%lmaﬂmmm%?

(1) 28,000% (2) 42,0007
(8) 56,0007 - (4) 84,0007
32. [ Mumbai: Maharashtra : Ahmedabad : ?
(1) New Delhi (2) Gujarat
(3) Uttar Predesh (4) Madhya Pradesh
TR MRS, © STEHEET : ? '
(1) -3 Rt Vpd (2) o
(8) TEX MR . (9 W9
33. [ A student's performance is compared with another student in which type

of testing ? |

(1) Criterion-referenced testing
(2) Diagnostic testing ‘

(3) Summative testing

(4) Norm-referenced testihg
% foerdl & yesi @ o o foemdt @ fhw weR & qderer ¥ &) ot 2 7
(1) AFRETS G qae

2) eI gaET

3) ATeE qhET

(4) A e wdeeT

PG-EE-2022 (Library & Information Science) Code - A
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34. | CALANDER is coded in a code as CLANAEDR. Find the code for
CIRCULAR under the same rule.
(1) LACANDER .. ... (2) CRIUCALR
) CLANADER (9 CIRCULAR

CALANDER & %g CLANAEDR &1 &l J CIRCULAR & %
BT

(1) LACANDER (2) CRIUCALR
(3) CLANADER (4) CIRCULAR

35. | Sanjay sold an article at a loss of 25%. If the selling price pad been increased
by ¥ 175, there would have been a gain of 10%. What was the cost price of
the article ?
(1) ¥ 500 (2) T 400
3) 350 (4) 750
W%@mﬁ%%zﬁtaﬁqﬁf{nqﬁﬁmwﬂt 175 w1 far 4
10% T QT BN | | & A 9 4 e !
(1) % 500 (2) 7 400
38) %350 (4) 7750

36. | A,Band Care intelligent, A, D and E are laborious, D, C and E are honest

e not honest ?

and A, B and E are ambitious. Which of the following ar

(1) CandA 2 AandD

3) AandB (4) C,AandB
A,BWCW%M,DWEﬂaﬂa%nn,camE%qﬁm%uéA,Baw
E et 3| Pt ¥ & @9 e T8 8 7

(1) CITMA (2) AT D

3) ATUB 4) C,ATaB

PG-EE-2022 (Library & Information Science) Code - A
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317.

Anil played 8 cricket matches. The mean (average) of the runs was found
to be 80. After playing four more matches, the mean of the runs of all the

¥natches was found to be 70. The total runs made in the last four matches
is : :

(1) 400 @) 200

(3) 300 (4) 100

S T 8 Fbhe A O | T o A () 80 T | AR AR A S S g9,
wl Ael & < A 70 @) S 9R A & o6 g B W o
(1) 400 (2) 200

(3) 300 (4) 100

38.

The below statement is followed by two assumptions. Read the statements
and choose the appropriate option given below :

Statement : Ravi is too intelligent to fail in the examination.
Assumption I': Very intelligent boys do not fail in the examinations.

Assumption II : Those who are not intelligent at all may fail in the
exammatlons ' :

Choose the most approprlate optlon '
(1) “Assumption [ is implicit  (2) Assumptlon Ilis 1mphC1t
(3) BothIandII are 1mp1101t 4 Ne1ther of them is implicit

ﬁwﬁr@amm%mﬂmaw%uwﬁmw:ﬁ%ﬁﬁ@m
fee @1 g ¢

Fo ¢ T e § oTwe 7 B R @ ot gieT B

A [ ofcaie e e XIS § STk e e |

e I : 3 o gRed T § e § ore & b 8|

T SR R @ 99 B

(1) A 1 eratifed &1 (2) W= 11 oraffea 21

@) Iaem I orafifed 8 (4) &1 & #1§ A swarifea 7l ¢

PG_EE_202,2 (Library & Information Science) Code - A
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39. | Below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R). Read the statements and choose the correct answer
using the options given below : '

Assertion (A) : Classroom communication has a cultural dimension. -

Reason (R) : Beliefs, habits, customs', and languages are the cultural

characteristics of communication.

Choose the correct option :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A)is true, but (R)is false -

(4) (A) is false, but (R) is true

A A T RY W Y, @ o, (A) BT ¥ au qaw aer (R) ffa ¥

Fel B Uy aur Y RY T Rt B UAN RS @ I H T Bl |

SRR (A) : FEER AT T AR ST e ¥

FROT (R) : Ream, omed, A-Ram qut Ad whew @ @ighe
fadar 3 |

e fadea g -

(1) (A) 7 (R) & @ § aon (A) @ (R) @& = R

(@ (A) T (R) 3 e &, W (A) B (R) @@ amen 7 ¥

@ (A) 7 &, wg (R) o ¥

4) (A) & }, g (R) &9 ¥

PG-EE-2022 (Library & Information Science) Code - A
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40.

Which of the following statement (s) regarding the term ICT is/are true ?

P: A digital divide is an economic and social equality with regard to
access to, use of, or impact of ICT.

Q ICT helpsin international development by bridging the digital divide
and providing equitable access to technologies.

Choose the correct option ;-

(1) Ponly . (2) Qonly

(3) PandQ | " '(4) Neither Pnor Q

ﬁqﬁr@aﬁ@rﬂam/ﬁwmmm%wﬁrw%/%?

P: %WWICT%W,'WW,WWW@%Wﬁw%
qoT Gt qar gt 21

Q: ICT Rfrew Rars i @R o Mafel o —mem S W=H =3
I fo | wens ¥ wd Reew g

(1) daq P @ 3@ Q

@) Paw Q @ TAPTQ

41.

Choose the proper alternative given in the code to replace the question
mark. Cow-Milk ; Bee-Honey; Teacher- ?

(1) Marks (2) Discipline

(8) Wisdom . . @ Lesson

ARG & @M W 90 @ 7 B8 7 R shw few g
-39 ; AYAFEI-9IET ; STEHAH- ?

(1) 9% (2) STgImEs

3) gfesmar (4) 9

PG-EE-2022 (Library & Information Science) Code - A
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42. |If1=1, 2=4, 3=10 and 4=22, then 5=17
1) 39 bl s 2) 34
@ 4 .. . @4
3R 1=1, 2=4, 3=10 T 4=22, A 5=2
1) 39 2) 34
3) 4 | 4) 36
43. | The next term in the series : 2, 5, 10, 17, 26, 37, ? ?s _
(1) 50 i x(2) BT
@) 62 @ 72
2, 5, 10, 17, 26, 37, ? A0t P SFRT T & :
(1) 50 @ 57
@ 62 @) 72
44. | The arithmetic mean of the first 11 natural number is
1) 50 i @) B8
@) 6.0 @ 65
goT 11 RS SEmel H FHRI A §
(@) Big2n svintiabie @) 55
(3) 6.0 ‘ (4) 6.5
45. | How many rotations will the hour hand of a clock complete in 72 hours ?
(1) 3 ) 6
@ 9 @) 12
T g1 0 Al §§ 7293 F i AeeW R B ?
1 3 % @ 6
@ 9 | @ 12

PG-EE-2022 (Library & Information Science) Code - A
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46. | Which of the following is the decimal equivalent of 101111 ?
(1) 49 (2) 52
3) 53 @ 47
ﬁwﬁtﬁaﬁﬁﬁﬁﬂmlouu 1 AT JA & 7
W ® & @ 52
3) 53 : e) 47

47. [IfA+B =96 and A is half of B, then the value of A will be :
(1) 22 Q) 32
@) 48 4 64
T A+ B =96 A, qurem%a"rAasrqﬁam
1) 22 (2 32
@) 48 .. 4) 64

- 48. | A number, whe.:n- multiplied by 183 is increased to 195 the number is

@ 5 | @ 12
3) 15 WERLC O T .
T de & afk 13 & o0 e 1) 98 we 195 O o ¥ 98 wew
(1) 5 2 12
'3 15 | (4) 45

49. | Choose the figure which is diffefént from the rest.

& & p 9

@) 4)
wm@ﬁfﬂwaﬁmﬁrwaﬁw%

9 @ o P

PG-EE_2022 (lerary & Informatlon Scxence) Code - A
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50. | Insert the arithmetical signs in the following numerical figure.
9 _ 6__3=21.
1 +x 2 -+
3 /+ gy 4) +/
RGeS & siekh fE GRai 9 _ 6 _ 3 =27
1) +x @ - |

@ /+ wloy anl gy +/

51. | World Wide Web was first designed by :
(1) Charles Babbage (2) F.W.Lancaster
(8) Ted Nelson (4 Tim Berner.'.s Lee
(1) = SeST F (2 Th IRY AR |
@ TIWI 0 @ ATFRAA

' 52. | TCP, UDP and AAL are::

(1) Transport layer protocols  (2) Application protocols
(3) Networking layer protocols (4) Communication protocols
Ad G gd G
(1) grEde R et () TR W
@) eafeT JA N (4) TR MBI

53. | Which of the followin’g is considered as India's first supercomputer ?
(1) Aditya (2); Param Shivay
(8) Vikram-100 : (4). Shastra T. Kilobytes
P & & HH-1 9RG H1 Ie U FGLL A A § 7
(1) o @ v R
(3) fap-100 4) ' yre &, e

PG--EE-2022 (Library & Information Science) Code - A
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54. | Which of the following is an example of application software for a
computer ? RN
(1) MSword i  >(2) MS excel
() Both (1) and (2) | (4) MS Dos
TR 3 R TR A A1 S ki ¥ § dar ? 7
(1) o ge (@ T T
® (@) A @ @I
55. | Which of the following is not image format ?.
(1) .img e , (2) png
(3) .tif 2 @ Jpg |
i & & HH-81 §A B T & 7
Q) img - @ .png
3) .tif _ @ Jrg
56. Which ofthe following is a name of a webpagg address ?

€)) Directory | (2) Protocol

(3) URL - (@) Site
Py & @ B-aT 909 GIH & A ¥ 7

1) gmizr;% @) SR
3)- zlam qa (4) ®R

PG—EE-2022 (lerary & Information Science) Code A
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57. | HTML stands for :

(1) HighText Machine Language

(2) Hyper Technology and Links Markup Language

(3) Hyper Text Markup Language

(4) Hyper Technology Machine Language

ClcoR-E o f X o

1) @ o A A . () BRI oS KT A

(3) BRW IR HHSY 7asl (QEWR?ﬂﬁﬁqﬁﬂ%%r

Computers on the internet are identified by :

58.
(1) IP address” - (2) E-mail address
(3) Street address (4) System preference
g W HY P T ol &
(1) % § G T (2) &9 TRH EN
(3) & TgW &’ 4) R B ar
59. | Which of the following software is preferred for big data visualization ?
(1) HTML Programming 2) MS Project
(3) RProgramming (4) Adobe Capture
92 o6 @ @ [ Pl & @ 99 @ divedaw & gl & S 8
1) @& wH oq g (2) T TH UNige
i (8) W SEET (4) TN F=R
60. | Which type of switching system is the telephone network ? .
' (1) Circuit switching (2) Packet switching
() Message switching (4) None of the above
RlB oo 60 TER 1 RafiT e ¥ 7
(1) woe Rafem @ We Rafi
@) oW Rafe 4) 0w 3 o 7

PG-EE-2022 (Library & Information..Science) Code - A
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61.

Which of the following is not the correct method of editing MS Excel cell ?
(1) Press F2 Key (2) Click formula bar

(3) Press Alt key (4) Double click cell

T 6 TR 89 H WRe @ vl R Frafied § 4 S @ 2 2
(1) F2 %ol < (2) T IR e B

(3) Alt%olt Tad (@) ¥ B o R A}

62.

SMTP is an acronym for

(1) Simple Mail Transport Protocol e
(2) Simple Mail Terminal Protocol
(3) Simple Mail Transfer Protocol

4) Simi)le Mail Transition Protocol

W @ & § i &g e R

(1) R A giaad emm

@) Rroe A e St

@) Rrea 7q giae M|
(4) Rrud A9 giveE S

63.

A computer has a main memory of 960 Kbytes. What is the exact number
of bytes contained in this memory ?

(1) 960x8 (2) 960x 1000
@) 960x1024 (4) 960x% 1024 % 1024
T FE H TS TG 960 Frclarey ¥ M F wde v ¥ T B
frert dem @ 7
| (1) 960x8 ‘ (2) 960x 1000
(3) 960x 1024 (4) 960 x% 1024 x 1024

E—EE—2022 (Library & Information Science) Code - A
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64.

In a computer, if 8 bits are used to specify the address in memory, the

total number of addresses will be :
1) 8 (2) 256

(3) 216 (4) 512

@ PR §, AR Rew & A W § @ aan R @ B IRE O
deqr Bt ¢

65.

1) 8 (2) 256

(3) 216 @) 512 " e

Which of the following denotes an error in a cdfxfiputer)program ?
(1) Bug . ) (2) Virus

(3) Spam : 4 Bit

e & § H9-91 W& FgeX M § e qarn ¢ ?

W T @ T

@ @1 @ e

66.

Put the following units of storage into the correct order, starting with the
smallest unit first and going down to the largest unit : (a) Kilobyte
(b) Byte (c) Megabyte (d) Terabyte (e) Gigabyte (f) Bit

Give your answer from the following code :

1) ®, b), (@), ©, @, ) @ @, ®), @), @), @), ()

@ @ b, @, @€ d @ O )@, d), @, e

R A i SRl 9 TR B e TR e T o g A ¥ v @
T A TR : (a) RIS (b) AT (c) HTRIRE (d) RRWEE (o) AT e () R
e #ie ¥ 19 S gy "

D O ®, @ @@ @ @ O )@, d,e),c

@ O 0@, 0 6, @ O )@, ad, @, e

PG-EE-2022 (Library & Information Science) Code - A
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67.

Which of the following is a type of memory circuitry that holds the
computer's start-up routine ? B |

(1) RIM (Read Initial Memory)

(2) RAM (Random Access Memory)
(3) ROM (Read Only Memory)

(4) Cache Memory

Frefefed & ¥ $9-
s 5 5 o A0 wREd & TR ¥ S FYR $ W wH #@

(1) RIM (= )
(20 RAM (¥=9 TR ¥r)
(3) ROM ({5 il AArd)
4) 9

68.

Which of the following Dynamic Web Document Format ?
(1) CSS (2) PHP |
(3) HTML (4) XHTML

Rraffed & A DF-67 TR 39 SR BT €

1 @@ @ dEd

@ WA (4) W@ A W

69.

What is OCR ? |

(1) Converting a scanned image into a text file
(2) Indexinga PDF file ki

(3) Converting text file into an image

| (4) Scanning text file

A G AR FME?

1) @g@aﬁmwﬁw
© G & Th FE B FSET DO
@) e wEW W Ao H qEw

4) e FEA B G BN

PG-EE-2022 (Library & Information Science) Code - A ..
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70, | Which one of following is known as read/write memory
(1) ROM (2) RAM
3) DVD (4) Hard Disk
Wﬁ@%—m%wm%mﬁwm% ?
(1) ROM () (2 RAM (W)
3) DVD (¥ & ) @) & &
71. | Which of the following author from India has won the 2022 Booker
International Prize ?
(1) Geetanjali Shree (2) Arundhati Roy
(3) Chitra Banerjee Divakaruni 4) Sudha Murty
ﬁwﬁf@aﬁﬁmm#wﬁzo%aﬂm@ﬁwmaﬂm% ?
1) Walla 4 @) e
@) e awen Rameee @ g I |
72. | The UNESCO World Heritage Site Hampi is located at the banks of which

river ?

(1) Hemavati River (2) KaliRiver

(3) Tungabhadra River (4) Kabini River

g 1 fgE foed e e T & B Rem R 7
(1) e ﬂfr 2) Frl T

® grm (@) FRE T
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78. | PARAKH stands for :

(1) Performance Assessment Review and Analysis of Knowledge for
Historical Development

(2) Performance Analysis Review and Assessment of Knowledge for
Holistic Development

(3) Performance Assessment Review and Analysis of Knowledge for
Holistic Development

(4) Performance Assessment Report and Analysis of Knowledge for
Historical Development

PARAKH % T &0 ? :

1) W e Re T TR ifE AR o e Saar
© WHEE TRRE R U W@EiT I T SR aRfies ST
@) woiw e Reg U iRiE o T B afifes e
(@) o dE RAE e TR o e e R ST

74. | Who got Jnanpith Award in 2022?

(1) Damodar Mauzo

(2) Nilmani Phookan Jr

(3) Akkitham Achuthan Namboothiri

(4) Nilamani Phookan

2022 ¥ Fde GUERR fee <t o ?
(1) e A

@ Sl g P

(3) e g TR

(4) el G

PG-EE-2022 (Library & Informa:io)n Science) Code - A
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75. | Which of the followmg state is known as the Land of the Rising Sun ?
(1) Madhya Pradesh ~ (2) Arunachal Pradesh
(3) Andhra Pradesh 5 (4) Himachal Pradesh
P & @ d-ar To IR g1 A g S &9 A I o @ 7
(1) 9 & (2) FETE sl
(3) T JRH (4) RAmERT Saq
76. | Which of the following prize in mathematics is equivalent to Nobel Prize ?
(1) Academy Award (2) Booker Prize |
(3) The Fields Medal (4) Pulitzer Prize
ﬁwﬁmﬁaﬁw—mmmwmw%gﬂé ?
1) @R FER 0 (2 T FFER
® g A (@ TS e
77. | Which of the following ahtHof fﬁim India has won the 'l?uli?fzer Prize ?
| @ AmitavGhosh . (2) Siddhartha Mukherjee
(3) KiranDesai . ™ 4 Amartya Sen I.
9 @ Frefofad & @ R des T gioor TR offar ?
(1) e = @ frerd gest
(3) T 3R (4) od &
78. | Raman effect is a discovery of :
(1) Ramanujam 1 (2) Raman Maharshi
3 JCBose (4) CVRaman
T 99 R a & 7
(1) THIgs™ 2) T el
@) . @. 9" @ @ d @ K
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79. | India's current Vice President is :

(1) Mohammad Hamid Ansari (2) KR Narayanan

(8) Jagdeep Dhankhar (4) OP Kohli
(1) "ErE EhE o 2 *. IR TREH
(3) RN TEg (49 o d.
80. | Who is the Head of Dept. of Library and Information Science, MDU
Rohtak ?
(1) Anil Kumar Siwach ~ (2) Nirmal Kumar Swain
(3) Pinki Sharma (4) SanjivKadyan
™ St g oo & qamd O ge Ree Qe S Reemes B ¥ 2
1) S FAR = @ fia IR @A
@) i gt 4) T FEE
81. | Who is the father of Library Science in India ?
(1) Dr.S.R.Ranganathan  (2) D.B.Krishna Rao
(3) B.S.Kesavan (4) Ganesh Bhattacharya
ARG & e e & 9 B § 7
1) $f. T§. . THRA @ . 9. FFRE
3) & TE. 4 ™ wgEd
82. | When was the first edition of DDC published ?
1) 1875 ©2) 1876
(3) 1874 (4) 1896
& & o 7 gec GEBT He TR I o ?
(1) 1875 : (2) 1876
3) 1874 (4) 189

ITG—EE-2022 (Library & Information Science) Code - A
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83. | MARC stands for :
(1) Magnetic-Readable Cataloglng
(2) Micro-Record Catalogmg
(3) Machine-Readable Cataloging
(4) Machine-Record Cataloging
MARC&H T &7 & ©
1) FRH-Raa e
2) HEH-RBE HemiT
@) Ad-039a Fertim
@) Ad-R#E HemiriT
84. | Which of the following is an Open-Source Integrated Management System
(ILMS) ? | . £
1) E-Granthalaya | . (@) SOUL 2.0
(3) Koha (4) LibSys7
ﬁwﬁf@aﬁﬁﬁw—m@w@ﬁsﬁﬁa@zﬁﬁmm (ILMS) g7
Q) $raeE f © (2 SOUL20
@) @ " (@ LibSys7
85. | Citation Index was invented by :
(1) Eugene Garfield (2) Neelameghan
(3) Polanyi (4) Mahalancbis
ARSI 329 1 STfh T ¢
1) gﬁﬂﬁ RS A 2) HeRgT 1
(3) deEE A (4) TR 3
Tesnt
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86. | Which is the correct logical sequence of the following ?

(1) Information, Knowledge, Data, Wisdom
) Knowledge, Information, Wisdom, Data
(3) Data, Knowledge, Information, Wisdom
(4) Data, Information, Knowledge, Wisdom
freifcfad & & iv-an wér ot e B 7
1) I, §H, 3, Sl

(2) M, Ga, giew, sins

(3) STwS, M, T, Sfew
(4) SRS, e, oI, e

87.

The correct sequence of information flow is ........... 3
(1) Massage — Source— Channel — Receiver

@) ‘Source - Message —» Channel — Rece1ver :

(3) Message— Channel— Source — Receiver

(4) Message— Channel— Receiver— Source

Y SGTE H W A 8
(1) I Td— AT Hf‘aﬁf i
2) Hd— TWT— TTA— T

(B) WI— I - Tl
4) WA AT A<hedi— FId

88.

In wihch of the following state, the first Public Library Act in India was

enacted ?

(1) Andhra Pradesh (2) Tamil Nadu‘ S

(8) Maharashtra (4) Kerala: =~
frfoia # & g o9 §, ARG F 9o GRS JRebrm SmEe @ gon ?
(1) o SR @) dRwrE

3) WmwEg @) A
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(25)

cag s
N




Set -

- Code - 5
b“ﬁs:im Quesi:ibﬁs M
: T
89. | Information and Library Network (INFLIBNET) Center is located at -
(1) Gandhinagar (2) Ahmedabad
(8) New Delhi (4) Mumbai
T g«m&m Yea® (INFLIBNET) % Rer g
1) TR F ~ ) ERER |
3) 7§ R« # =t (@) gER A
90. | The National L1brary of Indiais located at:
(1) Nagpur (2 Madras (now Chennal)
3) Kolkata™ (4) New Delhi
ARG & A9 AR R ® '
(1) g A @) =M (39 I=13) H
(3) Ficrpr A (@) & R= #
91.

Raja Ram Mohan Roy Library Foundation (RRRLF) is a supporting body
for : ) 5% i

(1) Publiclibrariés” """  *(2) Academic libraries

(3) Special libraries (4) School libraries

T T AT T TR F9es (RRRLF) 0% 6eld oy &
(1) wEos ol & (@) duPr g @

(3) fafire gempRmEl St 4) T JEEeE @

92.

e—

The headquarters of the World Intellectual Property Organisation (WIPO)
is located at :

@) Vlenna , (2). Toronto
(3) London (4) Geneva
ﬁﬂmWW(WIPO)mg@mﬁqﬁ%
(1) fwwd @ R
3) @< | (4) S9ar §
|

PG-EE-2022 (Library & Information Science) Code - A

(26)



Set-X
Code- A

!Quf:}s;mn Questions

93. | The Berne Convention was a pioneer convention in the field of :
(1) Protection of wildlife

(2) Protection of intellectual property rights

(3) Protection of victims of wars

(4) Protection of human rights

T FIE FrefRed & @1 o sl e o

by a'{am - | :

@) eF T AR D T

@) IS Ui B wRw @

(4) THAIYHRT & EE H

94. | Which one of the following is not a scholarly search engine ?

(1) Mozilla Firefox (2) BASE -
3) JURN (4) Google Scholar
Frfafad & @ H9-81 @il 79 o9 6 § ?
(1) AR FRRHF (2) 99 (BASE)
3) S+ (JURN) 4) T @R
95. | CODEN is related to:
(1) Books (2) Serials
(3) Reports (4) Gray Literature
CODEN & &+ & :
1) & @ (2) P &
3 Rae & 4 7wt &

PG-EE-2022 (Library & Information Science) Code - A
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96.

The headquarter of the International Federation of Library Associatjo,

(IFLA) is situated at .........- :
(1) Hague (2) Paris

(38) New York (4) Delft

S AT Ol TR TG (IFLA) #1 g Re & -

OB @ M
® c o TEE 1
97. | MOOCs stand for: l'

(1) Ministry of Oil, Ocean & Corals

(2) Massive Open Online Courses | E
(3) Members of Open Oxford Curriculum l.
(4) Miners of Outer Canada . ' 2
MOOCsH T & & :

1) R o ot SN T8 B
@ ifE ol SR B |
(@) e ol oA S Hl

TP DI L S R
b2

(4) TETH 3% STSCT FHrT —
98. | WORLD BOOK and COPYRIGHT DAY is celebrated every yearon:
‘(1) -April 23 - (2) May23
(3): ' Ju‘ne 27 (4) November 21
S g% a FANEE 3 HAF I T S $
1) o 23 % 2 7 23R
@ I 27 (4) TR 21 H
/
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99. [ The famous book, "The Discovery of India" is written by :
(1) A.P.J. Abdul Kalam (2) Vikram Sarabhai

(8) Jawaharlal Nehru (4) C.V.Raman

S g% T Rewad ot Ry & g el T

O TAAomgaFm (2 Ry oo

3) A T e® @ @ & =
100. | Patents are which type of information sources :

(1) Primary (2) Secondary

(8) Tertiary e (4) All the above

o e mwRATEIIaeE?

(1) st e (@) s

3 T (4) S w

L
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1. | Which of the following author from India has won the 2022 Booker
International Prize ? -
(1) Geetanjali Shree (2) Arundhati Roy
(3 Chitra Banerjee Divakaruni (4) Sudha Murty
mﬁﬁﬁHM%wMomﬂmwwaﬁm%?
(1) it < (2) s54f M
3) Rem st Rameeh 4) g it
2. |The U?NESCO World Heritage Site Hampi is located at the banks of which
river ?
(1) Hemavati River (2) Kali River
(3) Tungabhadra River (4) Kabini River
X 71 Riea R w@w e B 7 B R Raw B 7
1) FER A (2) Ft T
@) g @ , @) FfER &
3. | PARAKH stands for:
(1) Performance Assessment Review and Analysis of Knowledge for
Historical Development

(2) Performance Analysis Review and Assessment of Knowledge for
Holistic Development

(3) Performance Assessment Rev1ew and Analysis of Knowledge for
Holistic Development

(4) Performance Assessment Report and Analysis of Knowledge for
Historical Development

PARAKH & T°f &7 2 : L

(1) T e g s wiie e T 3R ReiReg 2aamie
(2) THEE TE R 8 e 3% 909 3R SRfes 3aa@=
(38) T THEA= R T fiE 6 09 g Sffes saauT
) WWWWW&HWWWWW
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4. | Who got Jnanpith Award in 20227
(1) Damodar Mauzo
(2) Nilmani Phookan Jr
(3) Akkitham Achuthan Namboothiri
(4) NilamaniPhookan
2022 % aFdie JreET B ara B 7
(1) zZFrT 9
2) ARE G T
(3) AT o TR
4) P g
5. Whmhofthefnllmnngstatemlmownasthelandofthe&smgSnn’
(1) MadhyaPradesh - (2) ArunachalPradesh
(3 Andhra Pradesh (49 Himachal Pradesh
ﬁqﬁr@aﬁQMWwﬁmaﬁgﬁ%mﬁmma?
(1) 7= =29 (2) FToI=a =B
(3 g =9 (4) ZoEE B
6. Whichofthefoﬂowingpﬁze_inmathematicsisequivalenttoNqbelpﬁze?
(1) Academy Award (2) Booker Prize
(3) The Fields Medal (4) Pulitzer Prize
Friiafea & S-81 1R & Tomt Fed 5T 3 g9 3 7
(1) @ TR @ T e
3) 7 BEd e (4) T B

PG-EE-2022 (Library & Information Science) Code - B
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7. | Which of the following author from India has won the Pulitzer Prize ?

(1) Amitav Ghosh (2) Siddhartha Mukherjee
(3) Kiran Desai (4) Amartya Sen
méﬁqmaﬁﬁﬁ?ﬂéw%ghmgmaﬂm?
(1) faE a9y 2) R g
) T e (4) ot A

8. | Raman effectis a discovery of :
(1) Ramanujam (2) Raman Maharshi
(3) JCBose (4) CVRaman
TH 9vE faet @ & ?
(1) TErge™ 2) T "l
@ . @ @) & oA

9. | India's current Vice President is :
(1) Mohammad Hamid Ansari (2) KR Narayanan
(3) Jagdeep Dhankhar (4) OP Kohli
T ¥ ARG B ITASIR ¥
(1) =T e s 2) 3. IR. TEH
(B) TRV e @) . d. P

10.' { Who is the Head of Dept. of Library and Information Science, MDU
Rohtak ?
(1) Anil Kumar Siwach (2) Nirmal Kumar Swain

| (38) Pinki Sharma (4) Sanjiv Kadyan

™ & g qeas & JeHd @ ET REE R 3 Remey @ ¥ 2
(1) e R REE (2) Few AR &=
3) e g (4) §fT FIH

PG-EE-2022 (Library & Information Science) Code - B
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11.

World Wide Web was first designed by :
(1) Charles Babbage - (2) F.W. Lancaster
(3) Ted Nelson b (4) Tim Berner's Lee

12l

TCP, UDP and AAL are :

(1) Transport layer protocols (2) Application protocols

(3) Networking layer protocols (4) Communication protocols
ddd, gddama gy BRI,

(1) FEae I e (2) TP ST

@) TEERHT W A - (@) PRI Do

13.

(8 Vikram-100 (4) Shastra T. Kilobytes

Which of the following is considered as India's:first supercomputer ?
(1) Aditya (2) Param Shivay

ﬁﬂﬁ%ﬁﬁﬁ?-ﬂ%ﬂwwmwm%?
(1) oRw . ©2) T REm
(3) fasFm-100 @) = & Rieme

14.

Which of the following is an example of application software for a
computer ?

(1) MS word .(2) MS excel

(3) Both (1) and (2). (4) MS Dos .
@mémmmmwﬂ@mmmwmm%?
1) TWEE (@) T T R

@ T @)W 4 ™ w g

4)

G-EE mr ary & Infoi‘matii;lrn"'Science) Code -B
P - —



Code-B
[Question) Questions
15. | Which of the following is not image format ?
(1) .img (2 png
@ tif @) .jpg
Pt 3 & -1 1 wRde 7 & 7
(1) .img (2) .png
@) .tif | 4) .jrg
16. | Which of the following is a name of a webpage address ?
(1) Directory (2) Protocol
(3) URL (4) Site
e d d d-m st Qe A e 7
(1) I @ Toe
@) I IR T (4) WEe
17. | HTML stands for :

(1) HighText Machine Language
(2) Hyper Technology and Lmks Markup Language
(3) Hyper Text Markup Language R

(4) Hyper Technology Machine Language

WA H I ard §

(1) & = 99

(2) TEW TFAET s Rigw TEaw
(8) TEW IR TP AT

(4) TER TN 79 Fae

PG-EE-2022 (Library & Information Science) Code -
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'18. | Computers on the internet are identified by :

(1) IP address (2) E-mail address
(8) Street address (4) System preference
TR W FRIER B TeaH ot 2
1) s & @E (@) 99 @F o
@) Trewaaw (4 Rred BwE |

19. | Which of the following software is preferred for big data visualization ?
(1) HTML Programming (2) MS Project
(3) RProgramming - (4) Adobe Capture
I T AEA & fe iR & ¥ A9 A diweda) B o @ o € ?
1) @ & o o ek HRCRCE S
(3) R ST 4) W F=R

20. | Which type of switching system‘ is the telephone network ?
(1) Circuit switching - (2) Packet switching
(3) Message switching (4) None of the above
BN g ey # Rafr Reem 37
() af¥e Raff (2) ¥pe Raffm :
@) e R @) g% ¥ @ B T

921. | Who is the father of Library Science in India ?

| @) Dr.S.R.Ranganathan (2) D.B.KrishnaRao

(3) B.S.Kesavan (4) Ganesh Bhattacharya
qRa & g R & o B ¢ 7

(1) 3. T, AR, T 2 #. st FRE

3) . . W (4) T T
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- 22,

When was the first edition of DDC published ?
(1) 1875 @) 1876

(3 1874 - (4) 1896
St S W H e W B TR I @ 7
(1) 1875 (2) 1876
(8) 1874 (4 189

23.

"MARC stands for :

(1) Magnetic-Readable Cataloging
(2) Micro-Record Cataloging

(3) Machine-Readable Cataloging
(4) Machine-Record Cataloging
MARC &l T &9 2 :

1) Ifer-08Ta demiti

2) TEH-RHE e

(3) AMF-U3sa DemifiT
(4) TIT-RFE DR -

24.

Which of the following is an Open-Source Integrated Management System
(ILMS) ?

(1) E-Granthalaya (2) SOUL2.0
(3) Koha (4) LibSys7
Frfofed & & F-ar Siua-ar genies Ao Rrew (ILMS) & ?
1) 3-79rd (2) SOUL2.0
@ @& (4) LibSys7

PG-EE-2022 (Library & Information Science) Code - B

(7)



Set. \
COGQ .

E“§s§°“ g Questions
25, ° Citation Index was inven_ted by :
(1) Eugene Garfield (2) Neelameghan
(3) Polanyi (4) Mahalanobis |
TSI 33 W R fem ;. ;
D T T 3 @ Fe 3
ORI @ wEwARE 3

=

26. .| Which is the correct logical sequence of the following ?
(1) Information, Knowledge, Data, Wisdom

(2) Knowledge, Information, Wisdom, Data

(3) Data, Knowledge, Information, Wisdom

(4) Data, Information, Knowledge, Wisdom

P & & A wd o @ B 7

(1) T, W, o, gRomr

(2) 9, oM, YRew, o

| @) g, AW, T, g
(4) SFs, o, T, JReT

27. | The correct sequence of information flow 18 e
(1) Massage— Source—, Channel -, Receiver

(2) Source— Message — Channel] —, Receiver

(3) Message— Channel— Source._, Receiver
(4) Message— Channel_, Receiver - Source
GO YA O e Y

(1) I W I e

(3) W I B W

(4) I - TFT— G
/_Jr—-—‘

L~
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28. | In wihch of the following state, the first Public Library Act in India was
enacted ?
(1) Andhra Pradesh (2) Tamil Nadu
(3) Maharashtra (4) Kerala
Frifcifee & @ Row o &, R & gom e g s o g ?
(1) g SRy (2) dfteTg
(3) HEITSE @) W
29. [ Information and Library Network INFLIBNET) Center is located at :
(1) Gandhinagar (2) Ahmedabad
(3) New Delhi (4) Mumbai
YO @ J&ied Ae9% (INFLIBNET) & fRe 2
(1) TR & (2) ETEER &
@) T Rl & 4) g &
30. | The National Library of India is located at :
(1) Nagpur (2) Madras (now Chennai)
(3) Kolkata (4) New Delhi
ARG H A A R @
(1) g F 2) = (oW a=)
(38) Wb H @) 7§ R«it #
31. | What is the other name for Primitive Germanic ?
(1) Esperanto (2) Italic
(3) Gothic (4) Teutonic
32. | Language is a social phenomenon.
(1) True (2) False
(3) Both (1) and (2) (4) None of the above

PG-EE-2022 (Library & Information Science) Code - B
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33. | Which of the following word is & Portmanteau word ’

(2) Electrocute

(1) Nickname :
; (4) Convivial

(3) Enthusiasm

34. | The term "idiom", derived from Greek, mean

(1) Standing apart on its own
(2) The words of the wise

(3) Having a great idea
(4) A state of being

35. | The study of the historical evolution of the meaning of words is called

(1) Semiotics (2) Phonetics
(3) Articulation (4) Semantics
36. | 'Kindergarten', an English word, is derived from which language ?
(1) Latin (2) German
(3) Norse (4) Italian

37. | The quality of sounds that makes it possible to judge their "highness" o;
"lowness" is :

(1) Tone (2) Pitch

(3) Musical (4) Loudness

38. | How many distinctive speech sounds or phonemes ar i =3
(Received Pronunciation of England or RP English) ? e there in English

(1) 42 2 4
3) 46 (4) 48
39. | Identify an abstract noun from the words given below : g
(1) iron (2) cattle
(3) thomas (4) pain

PG-EE-2022 (Library. & Information Science) Code - B J
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40. | Cannonhad _, unique qualities it was used widely in ancient
times.
(1) such, that (2) such, so
(3) that, since | (4) that, that
41. RaJa Ram Mohan Roy Library Foundation (RRRLF) is a supporhng body

for :

(1) Publiclibraries (2) Academiclibraries

(3) Special libraries (4) School libraries

T T Hie T s $8°eyM (RRRLF) U6 Wed OWdl & :
(1) qesives geeadr 3 @ Y gaeed B

3) fafire gwrrrl @ @) T JEHEeE

42. | The headquarters of the World Intellectual Property Orgamsatlon (WIPO)
is located at ::
(1) Vienna . (2) Toronto
(3) London g (4) Geneva
ﬁﬁmmw(wmo)asrg@mﬁw%
(3) = # (4) S_ar &

43. | The Berne Convention was a pioneer convention in the field of :

/(1) Protection of wildlife

(2) Protection of intellectual property rights
(3) Protection of victims of wars

(4) Protection of human rights
S HyE FrefiaT 8 & 06 Sl HEYN o

(1) FSg G FH

(2) Sied T ARBR B GET B
@) 7= fedl & q© #

(4) AFATYERT & GO H;

PG-EE-2022 (Library & Information Science) Code - B
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44. | Which one of the following is not a scholarly search engine ? 0
(1) Mozilla Firefox (2) BASE
(3) JURN (4) Google Scholar
P 3 & - e o o A 2 7
1) T B (2) 39 (BASE)
@) S (JURN) (4) TR e
45. | CODEN is related to:
(1) Books () Serials
3) Rep.)orts- | (4) Gray Literature
CODEN # &=+ § :
(1) g==H & () TRl
@ RIEF @ ¥ w3
46.

The headquarter of the International Federation of Library ABSOClatIOllS
(IFLA) is situated at ..........

(1) Hague (2) Paris

(3) New York (4) Delft '
ST BSWH G TR0 TS (IFLA) #1 gy e & -
@ A - @ ¥w &

@) g | (@) 3Tk ¥

PG-EE-2022 (Library & Information Science) Code -
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47.

MOOCs stand for :

(1) Ministry of Oil, Ocean & Corals

(2) Massive Open Online Courses 3

(3) Members of Open Oxford Curriculum
(4) Miners of Outer Canada

MOOCs & Tt &9 R :

(1) BiED s oimm, sivw o8 SRed
(2) A N iR PR

@) A= 3N N AFEHE Hhga
(4) T % SR FRI

48. | WORLD BOO_K ‘and'_CQPYR_IGHT DAY is celebrated every year on :
(1) April 23 (2) May 23
(3) June?27 | (4) November 21
7 g5 T FTIEE 3 TAF 7§ o
1) B 23H @ waw
(33 T 27 L @ TR
49. | The famous book, "The Discovery of India" is written by :.

(1) A.P.J.Abdul Kalam (2) Vikram Sarabhai

(8) Jawaharlal Nehru (4) C.V.Raman
RrE Jw T Rl ot R g g fd T
1) T G F. A" AW (2) RmFm AR
(3) “ERX T E® @) . . H

PG-EE-2022 (Library & Information Science) Code - B

(13)




Set. X
Code. B
P“;‘f Questions e
" B
50. | Patents are which type of information sources :
(1) Primary (2) Secondary
(3) Tertiary (4) All the above
V@ o o @ g S WA ¥ 7
(1) e @) fadas
@) s (4 %
51. | Which of the following is not the correct method of editing MS Excel cell?
(1) Press F2 Key | (@) Click formula bar
(3) Press Alt key (4) Double click cell
T W R o B W F B ol Ry Prafiiea § @ S-d w8 37
(1) F2 Fi = m (2) T SR RF B¢
(3) Alt it gE (4) ¥ B =9 B F¥
52. | SMTP is an acronym for : -
(1) Simple Mail Transport Protocol
(2) Simple Mail Terminal Protocol
(3) Simple Mail Transfer Protocol
(4) Simple Mail Transition Protocol
W@ & § Preifies & @y w0 Y
(1) R A9 gl S
) Rroa 3w ffe Mo
3) R A zawt S
() R ¥ g et
R
pG_EE-2022 (Librazy & Infor
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53.

A computer has a main memory of 960 Kbytes. What is the exact number
of bytes contained in this memory ?

(1) 960x8 (2) 960x 1000
(3) 960x 1024 ' (4) 960% 1024 x 1024

TF FG B J&I TR 960 Prefieamsed 21 3@ AN § @i &9 A I_H W
Rt der 8 7

(1) 960x8 (2) 960x 1000
(3) 960x1024 (4) 960 1024 x 1024
54. | In é computer, if 8 bits are used to specify the address in memory, the
total number of addresses will be :
1) 8 . - - (2) 256
@) 216 ' (4) 512
T Y, IR Rgg & @ W § @@ san 3 R @ @, g9 B g
g g
M) s : @) 256
3) 216 ; (4) 512
55. | Which of the following denotes an error in a computer program ?
(1) Bug | 2) Virus
(3) Spam | (4) Bit
Preifif & & a1 T FReT o A e Fow & ?
1 I (2) 9™
3 @ 4 fe

PG-EE-2022 (Library & Information Science) Code - B
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56. | Put the following units of storage into the correct order, starting With tp,

smallest unit first and going down to the largest unit : (a) Kilobyy,
(b) Byte (c) Megabyte (d) Terabyte (e) Gigabyte (f) Bit
Give your answer from the following code :

@) ® ®), @, @A, 6 @ O 0)@),ad,/e),c
@ 660600 @ O )@ d o, e

2Rt 8 R el ) a0 89 ofe TR O o e e 3w g

@mww@mmemwm@mmwmem
e # & AT IR g

@O O 6@, 006 © © b, @), @), (), (0)
@ @ ®)@© 6@ @ @ o), (@), (d), (), (e)

57. | Which of the following is a type of memory circuitry that holdsl the

computer's start-up routine ?

() RIM (Read Initial Memory)

(2) RAM (Random Access Memory)
(3) ROM (Read Only Memory)

(4) Cache Memory

ﬁﬁ%ﬁﬁﬁﬁﬁﬂ—ﬂﬁﬂﬂ%ﬁmm%@rm%mﬂqmﬁ
GEISCCIG S

(1) RIM (¥= shRrm 39)

(2) RAM (=% i 39rh)

(3 ROM (= sirelt 39rd)
@ F W

PG-EE-2022 (Library & Information Science) Code - B
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58. | Which of the following Dynamic Web Document Format ?
(1) CsS (2) PHP

(3) HTML (49) XHTML

e & & A-ar sEAe I8 s oRie

O @@ @ @ @ '

@ WadWw @ TWEdEw

59. | WhatisOCR?
(1) Converting a scanned image into a text file
(2) Indexinga PDF file 7
(3) Converting text file into an image
: (4) Scanning text file
AA AR AR ?
1) &= @ A W G5 F Ew
(2) TF U & 6 HE A FRRET Hn
(@) T wEW B W F FEw
(4) T A B DT B

60. | Which one of following is known as read/write memory
(1) ROM (2) RAM

3) DVD (4) Hard Disk

e & & - d8/3me MY B w9 & o o @ 2
(1) ROM () (2) RAM ()

3) DVD (3 & &) @ T &=

PG-EE-2022 (Library & Information Science) Code - B
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61.

The monthly incomes of X and Y are in the ratio of 4 : 3 and their mont}
€Xpenses are in the ratio of 3 : 2. However, each saves ¥ 6,000 per month
What is their tota] monthly income ?

(1) 28,000 (2) 742,000

(3) 56,000 (4) 784,000
XamYa%mf&esmwagqmma%waa%mﬁmmﬂwms:z%l
%aﬁ?e,ooo%%wa%lm@mmmm%?

62.

(1) 28,0007 (2) 42,0007

B) 56,0007 ; (4) 84,0007

Mumbai : Maharashtra : Ahmedabad: ? -
(1) New Delhi (2) Gujarat

(8) Uttar Predesh (4) Madhya Pradesh

T : TR : SERER : ?

(38) W WY 4) & Wy

63.

A student's performance is compared with another student in which type
of testing ?

(1) Criterion-referenced testing
(2) Diagnostic testing
(8) Summative testing

-

(4) Norm-referenced testing

o R & el @ g o R & R e @ e & ) ot B 7
(1) WS g=ifa Ty

@ e e

3) IrTeTE TE

(4) "F G gl

PG-EE-2022 (Library & Information Science) Code - B
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64. | CALANDER is coded in a code as CLANAEDR. Find the code for

CIRCULAR under the same rule.

(1) LACANDER (2). CRIUCALR

(3) CLANADER (4) CIRCULAR

;&ANDER P % CLANAEDR ?| 5! @@ & CIRCULAR # 3 o

(1) LACANDER () CRIUCALR
(3) CLANADER . (49 CIRCULAR
65. | Sanjay sold an article at a loss of 25%. If the selling price had been increased
by 7 175, there would have been a gain of 10%. What was the cost price of
the article ?
@ 7500 2) T 400 g
3) 350 4) 7750 '
T T T TN 25% & 9T 3| AR R 9 A 7 175 a1 Rar o
10% T T &N | §HH T AR Ged 7 o ?
(1) ¥ 500 ' ' (2) ¥ 400
3) 350 (4) 750
66. | A, B and C are intelligent, A, D and E are laborious, D, C and E are honest

and A, B and E are ambitious. Which of the following are not honest ?

(1) CandA (2) AandD

3) AandB 4 C,AandB

A, BT C g% &1 A, D E smsfiq ¥ 1 D, Caor E $9MRR § @ A, B
Em%nﬁwﬁi@aﬁaﬁww:ﬂ%?

(1) CaarA ' (2) ATID

(3) ATWB (4 C,ATaIB

’G-EE-2022 (Library & Information Science) Code - B
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67. | Anil played 8 cricket matches. The mean (average) of the runs was founq

to be 80. After playing four more matches, the mean of the runs of all the
matches was found to be 70. The total runs made in the last four matcheg
181

(1) 400 (2) 200
(3) 300 (4) 100

T 8 Brbe e & | W 1 e (o) 80 et 1 AR AR ey Qe F e
T A B W A 70 W) R WX e F 9E g R O S

(1) 400 2 200
(3) 300 ' @ 100

68. -

The below statement is followed by two assumptions. Read the statements
and choose the appropriate option given below :

Statement : Ravi is too intelligent to fail in the examination.
Assumption I : Very intelligent boys do not fail in the examinations.

Assumption II : Those who are not intelligent at all may fail in the

| examinations.

Choose the most appropriate option.

(1) Assumption Iisimplicit (2) Assumption IT is 1mplicit

(3) BothIandII areimplicit (4) Neither of them is implicit -
e BoM & 95 &)

g il T & T ¥ D Ry e Y RY T o
W:Tﬁqﬁmﬂmmﬁ%%m%m$gﬁmq%|

A 1 ST Y e e ¥ e g an

A 11 9 S g ¥ e § o & wey ¥

T Ifa e B 9 Py i

(D " Lo 81 () " I ey 2

@) T 3R o & (4) A D N oy 8 3

PG;EE-2022 (Library & Information Science
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Below are two statements, one labelled as?Assertion (A) and the other
labelled as Reason (R). Read the statements and choose the correct answer

using the options given below :
Assertion (A) : Classroom communication has a cultural dimension.

Reason (R) : Beliefs, habits, customs and languages are the cultural

characteristics of communication.
Choose the correct option :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(B) (A)is true, but (R) is false
(4) (A)is false, but (R) _is true
R QP R A R, @ v (A) R ¥ qan e awer (R) Rifa ¥
FH B URY U MY RY 1A Rt B S T IR A T A

ARFET (A) : FER T F il FAH B B

FOT (R) : faam, oed, df-Rem aor awid @fwor @t aieghe

R 1
e Rwe ghe
1) (A) @ (R) 3 5 & a0 (A) H (R) & e
@ (A) 7 (R) A &9 &, W (A) A (R) 7@ amen T 2

@) (A) ¥ &, g (R) o7& 81

@ (A) @ ?, g (R) &9 B

PG-EE-2022 (Library & Information Science) Code - B
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70. | Which of the following statement (s) regarding the term ICT is/are true !

P: A digital divide.is an economic and social equality with regar d to
access to, use of, or impact of ICT.

Q ICT helpsin international development by bridging the digital divide
and providing equitable access to technologies.

Choose the correct option :

(1) Ponly (2) Qonly

(3) PandQ (4) Neither P nor Q

P & @ @9 W/3 399 ICT 9= 3 e 7 79 /8 7

P: Rfted Ra®e ICT 3 wvE, S6S SN S19al I9 0% Ugd & a4 7 s
T R S SN B '

Q: ICTWWWWWWWW@WW
I e % weEe 8 @ Reer g

(1) ¥ P (2) @ Q
(3) Pawr Q | @4 AP Q

71. | Choose the proper alternative given in the code to replace the question

mark. Cow-Milk ; Bee-Honey; Teacher- ?

(1) Marks (2) Discipline

(3) Wisdom (4) Lesson

AFE B WM W N 3 Rl Fre 7 Rar oty R g -
TH-3Y ; TYHTEl-9E% ; AANH- ¢

1 % : (2) g

(3) e | (4) e

PG-EE-2022 (Library & Information Science) Code - B
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72. | If 1=1, 2=4, 3=10 and 4=22, then 5=2?
(1) 39 2 34
@) 4 (4) 46
] 1=1, 2=4, 3=10 T4 4=22, T 5=7
1) 39 ’ @ 34
3 4 (4) 36
73. | The next term in the series : 2, 5, 10, 17, 26, 37, ? is
1) 50 (2) 57
(3) 62 4 72
2,5, 10, 17, 26, 37, ? A7t Fr oM T 2 :
1) 50 @) 57
(3) 62 4 72
74. | The arithmetic mean of the first 11 natural number is
| (@) 5.0 (2) 5.5
3 6.0 . 4) 65
T 11 SR deast & weR e ¥
1 50 ) 55
3 6.0 (4) 65
75. | How many rotations will the hour iland of a clock complete in 72 hours ?
). 3ia v @
@) 9 - 4 12
w ud) @ G e g 726 & R e R A ?
1 3 ; (2) 6
® 9 @) 12

PG-EE-2022 (Library & Information Science) Code - B
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. : 0of 1011117
76. | Which of the following is the decimal equivalent
M 49 o) e
(3) 53 4 47 2 7
Frefefea & & @ @1 101111 & 9 N
1) 49 (2) 52
(3) 53 4 47
77. |If A+ B =96 and A is half of B, then the value of A will be : o
(1) 22 2) 32
(3) 48 - “(4) 64
I A+B=96T0 A, B B o9 T & A 1 q &N
(1) 22 2 32
3) 48 by ) (4 o4
78. | A number, when multiplied by 13 is increased to 195 the number is :
1 5 L (2) 12
@ 15 ;1), 46
@ e 7 AR 13 ¥ 70 R Y A 78 Tea 195 o o 2| 7w v b
1) 5 2) 12
3) 15 - (4)- 45
79. | Choose the figure which ig different from the rest —
1) ) ® o« )
| 39 S 3 w7 Bt v?r AP
PG-EE—2022 (lerary & 1nfmtlon S il
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Insert the arithmetical signs in the following numerical figure.
9__6__3=27.

(1) + x @) - +
@) 1+ ' @ +/
o deaes sl § s R wRI19__6_ 3=27
(1) +x ) - +
3 L+ . 4) +/

81.

Which of the following gives the middle most observation in a series ?

(1) Average (2) Median

(3) Arithmetic mean (4) Mode

Rreiiife & & B-ar A ¥ G A 1 EAE S Fel ¥ 7
1) S (2) wfeAs

(8) W A (4) g

82,

How many can meaningful English words be formed with the letters ESRO

using each letter only once in each word ?

(1) None (2) One

(3) Three (4) Two

st ESRO &1 WM 3% Rt oot srs o o W § R 5 o
ToF 9= 7 dad ¢ IR A4 ?

1) = T 2 &

@) @ @ @

PG-EE-2022 (Library & Information Science) Code - B
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tives DHL, pTX, BFJ?

83. Choose the missing terms from the given alterna

(1) KOS @ NRV
3) CGK (4) OIK
RY 73 Rt DHL, PTX, BEg 2 # e & e & Rl g
(1) KOS (2) NRV
® CGK "y : g ""f*(4) OIK

84 A girl mtroduced a boy as the son of the daughter of the father of her
uncle. The boy is related to a girl as :

(1) Brother (2) Son-in-law
(3) Son (4) Uncle

@m%wmmmm%ﬁwﬁgﬁ%@%mﬁwml
76 T IF AR § FH @ FA o

V) @ TR
3 T T (4) s
85. | Introducing Rakesh to her husband, the woman said, "His brother's father

is the only son of may grandfather". The woman is related to Rakesh as :
(1) Aunt "~ (2) Mother
(8) Sister : (4) Daughter

T H R 3 G o ofr @ e T e, Iwd g R
siﬁhmga%l"wq%mﬂrr%ﬂ%%ww% R

(1) (@ wm
3) & S @T

PG-EE-2022 (Library & Informaz;lon Science) Code - B
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86. | Find binary equivalent to 85 :
(1) - 1101010 ‘ (2) 1010101
(3) 1010110 Lo o (4) 1001101
86 F AT TwdF T HRT :
(1) 1101010 (2) 1010101
(3) 1010110 (4) 1001101
87. | Pick out the odd one from the following Word Pairs.
(1) Birds and Chirp (2) Dogs and Cook
(3) Elephant and Trumpet (4) Lion and Roar
Frfofee seegmt & @ oRi @ Bifed :
(1) Birds @91 Chirp (2) Dogs @1 Cook

(3) Elephant @ Trumpet  (4) Lion 9T Roar

88. | Find the missing numbers: 101, 103, 107,109, __, __ ,:

(1) 111,115 (2) 113,127
(3) 113,117 4 111,121

g oft F 71 A ¢ 101, 108, 107,109, _, __,:
(1) 111,115 2 113,127

3) 113,117 4 111,121

89. | Aditya walked 15 m towards the south and took a right turn, and walked
3 m ; he took a right turn again and walked 15 m before stopping.

Wlnch direction did he face ? |
(1) East (2) West
(3) North (4) South

| aRe aRer 3 @R 16, s o ardt ok
TSH 551 4 T 169, wmamﬁgﬁ?@%mggﬁ@ kel

1) @ 2 wREm
(3) I (4) T

PG-EE-2022 (Library & Information Science) Code - B
@7



- Set-X

£, : Code-B
P“ﬁon Questions e e
‘ ing for 3 minutes
90. | A train travelled at an average speed of 100 km/hr, stopping 1o

after every 75 km. How long did it take to reach its destination 600 km

from the starting point ? i ,. .

(1) 6hours24mins .,  (2) 6hours2lmins

(83) 6hours18mins (4) 6hours 27 mins

o 27 100 R 0. Sfer 1 e TR & SR 8, T T 7554, W3 &
31 T N SR ®F & 600 BB aﬁg&m.mﬁﬁmwm?

(1) 6% 24fFe (@ ewe21fFE

(3) 66 18 fe C(4) 6% 27T

91. | Which of the following sentence is correct ?
(1) Rahim and I Playing chess

(2) Rahim andIare playingchess

3) IandRahimisplaying ¢

(4) Rahim andI v;:rai‘s' playing chess

92. | Choose the correct sentence: it - - | :
(1) People America much football south very love in
(2) South America pebple love football much very

(8) People of South America love football very many
(4) People in South America love football very much

93. | Where _ __Ram live ?
(1) does yay (2) are
@) do s @) is

“- 94, | Which of the foﬂoﬁg sentence has an error ?
~ | (@) Iwent fora walk with some frie,ndé;
. 1@ Heis wiserthan me ¥

(3) The master tested the boy 1fhe could re .
d ;
(4) .1shall see whether the brakes w.orkzwena English

ibrary & Informati T
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We would never have had the accident if you so fast.
(2) Hadn't been driving

(4) Wouldn't drive

(1) Wouldn't been driving
(3) Had driven

English food is often considered too ___ for foreigners' tastes.
(2) Plan

(1) Plane
(4) None of the above

(3) Plain

97.

Pick up the correct synonyms for.the word '"LIMP".
(2) Kneel

(4) Stoop

(1) Falter
(3) Bend

98.

Choose the one which best expresses the meaning of the word 'GRUESOME',
(2) Painful

(1) Hateful
(3) Tragic (4) Frightful

99.

Words that sound like one another but have different meanings are

called ? '
(1) Soundnyms
(3) Homonyms

(2) Antonyms

(4) Monotonous

100.

Change into indirect speech; Raisa : "Could you bring my book tonight" ?
(1) She asked me could bring her book that night

(2) She asked me to bring her book that night
(3) She had asked me to bring her book that night

(4) She asked me to bring her book tonight

mation. Science) Code - B
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0.

mark. Cow-Milk ; Bee-Honey; Teacher- ?

(1) Marks (2) Discipline

(3) Wisdom (4) Lesson
m%quﬁ%mmﬂmmﬁmgﬁﬂ:
-39 ; AYTHEI-9RT ; AT ?

L. | Choose the proper alternative given in the code to replace the question

(1) % (2) SrgamEs
@) Ffema 4)
2. |If1=1, 2=4, 3=10 and 4=22, then 5="?
(1) 39 2 34
3 4 (4) 46
AR 1=1, 2=4, 3=10 TIT 4=22, F 5=2
(1) 39 2 34
3) 4 (4) 36
3. | The next term in the series : 2, 5, 10, 17, 26, 37, ? is
(1) 50 (2) 57
(3) 62 (4) 72
2,5, 10, 17, 26, 37, ? A & 37T 9T & :
(1) 50 (2) 57
(3) 62 @) 72
4. | The arithmetic mean of the first 11 natural number is
(1) 5.0 (2) 5.5
3) 6.0 (4) 65
99M 11 il et e e b
(1) 6.0 2) 65
] 4) 6.6
(3) 6.0 (4) »
PG-EE-2022 (Library & Informat(tgn Science) Code - C 15 %
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12. | How many can meaningful English words be formed with the letters ESRO
using each letter only once in each word ? |
(1) None (2) One
(3) Three (4) Two
amﬁmmmrnﬁwm%ﬁmﬁaéﬂwmﬁwm%mﬁmw
Td% 9 7 $9d 6 IR O 7
1 ®B T (2) @
(3) @ @
13. | Choose the missing terms from the given alternatives DHL, PTX, BFJ ?
(1) KOS 2) NRV
B) CGK (4) OIK
R¥ 7 feedt DHL, PTX, BFJ ? # gsfer & @ & @ g
(1) KOS (2) NRV
3) CGK (4) OIK
j 14. | A girl introduced a boy as the son of the daughter of the father of her
i uncle. The boy is related to a girl as:
(1) Brother (2) Son-in-law
(3) Son (4) Uncle
A e @ fa
g%@aggm?amwﬁﬁm AL 7 2 w1 e R
1) . (2) T
@) 9 " (4) Siehd
15. Introducmg Rakesh to her husband, the woman said, "His brother's father |
is the only son of may grandfather". The woman is related to Rakesh as:
" \ § (1) Aunt (2) Mother
i v (3)* Sister ) ﬂ(ﬂﬂ;a;ghter :
ot e gam m%m q %‘t T Wﬁg’% S Wﬁ?f ‘ 1
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16. | Find binary eqﬁivalent to 85:
(1) 1101010 (2) 1010101
(3) 1010110 (4) 1001101
| 85 I GeIS S B
(1) 1101010 (2) 1010101
(3) 1010110 (4) 1001101
17. | Pick out the odd one from the following Word Pairs.
(1) Birds and Chirp (2) Dogs and Cook
(3) Elephantand Trumpet (4) Lion and Roar
T STsegmi 4 | ST I Bifed
(1) Birds T Chirp (2) Dogs a1 Cook
(3) Elephant G4 Trumpet (4) Lion T Roar
18. | Find the missing numbers : 101, 103, 107,109, __, __,:
(1) 111,116 (2) 113,127
(3) 113,117 (4) 111,121
g< ofdt & § H : 101, 103,107,109, __,
(1) 111,115 @) 113,127
(3) 113,117 (4) 111,121
19. | Aditya walked 15 m towards the south and took a right turn, and walked

3 m ; he took a right turn again and walked 15 m before stopping.
Which direction did he face ?

(1) East (2) West
(3) North (4) South
Sy aféer 1 ST 1641, =@ ot e ST geet 3 0. W ; 9% : a8l
Wm%wsalsﬁ T, o g8 R Ream ¥ 5 @ e ¥ ?
(2) uf¥Em '

(4) eftyor

Scanned with CamScanner




E!uestion
No.

Questions e

20.

of 100 km/hr, stopping for 3 minﬁtea‘ I

A train travelled at an average speed bt ‘
ke to reach its destination 600 km |

after every 75 km. How long did it ta
from the starting point ?

(1) 6 hours 24 mins (2) 6hours 21 mins

(3) 6 hours 18 mins (4) 6hours 27 mins T% e 1
Th 1ooﬁa.m.qﬁdaﬁaﬁwwﬁr%aaﬁr%,wqﬁzﬁ75m . 3 1
mﬁ%mmﬁm@ﬁwﬁﬁsmﬁm.ﬂgﬁmmﬁﬁaﬂwaﬁ?

(1) 652 24 e @) 6%c 21 @Te
(3) 6% 18 e 4) 6He 27 AFe

21.

Which of the following sentence is correct ?
(1) Rahim andIPlaying chess

(2) Rahim and I are playing chess

(3) Iand Rahim isplaying

(4) Rahim and I was playing chess

22.

Choose the correct sentence :

(1) People America much football south very love in
(2) South America people love football much very
(3) People of South America love football very many
(4) People in South America love football very much

23.

Where Ram live ?
(1) does (2) are
(8) do 4) 1s

24,

Which of the following sentence has an error ?
(1) 1 went for a walk with some friends
(2) He is wiser than me

(3) The master tested the boy if he could read English
(4) Ishall see whether the brakes work well

PG-EE-2022 (Library & Information Science) Code - C
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31. | Raja Ram Mohan Roy Library Foundation (RRRLF) is a supporting b

for :

(1) Publiclibraries (2) Academic libraries

(8) - Special libraries (4) School libraries

T < W T A Frovde (RRRLF) TF HEEH W € -

(1) W g A (@) JE g

(3) ffire gemmE # (4) e e @ 4
32. | The headquarters of the World I 1tellectual Property Organisation |

is located at : |

(1) Vienna (2) Toronto

| (3) London (4) Geneva

R <Sifss e §eT (WIPO) &1 Jeaed Rerd & :

(1) feT A 2) IR A

(3) = | (4) S ¥
33. | The Berne Convention was a{pioneer convention in the field of ;

(4) WW%HWW

(1) Protection of wildlife
(2) Protection of intellectual property rights
(3) Protection of victims of wars

(4) Protection of human rights
T F9H Frfored &5 B Th SOl FHEYE o

(1) TG G F |
@) dfeF T FUBRE & TWET H - e g (M
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37. | MOOCs stand for :

(1) Ministry of Oil, Ocean & Corals‘

(2) Massive Open Online Courses

(3) Members of Open Oxford Curriculum
(4) Miners of Outer Canada

MOOCs & T &9 ? :

(1) R ot s, ohed T8 HiRed

2) HfE ST SfeE Hied

(@) A=E oG A SAFHE UG
(4) 9B S STRFEX ARl

38. | WORLD BOOK and COPYRIGHT DAY is celebrated every year on:

(1) April 23 (2) May 23

(8) June27 4) November 21
IS I qU1 HIAWEE $ GAF a9 T A Q

(1) ot 23 H @) 7 23

@) ST 27% (4) Fa=X 21 F

39. | The famous book, "The Discovery of India" is written by :
(1) A.P.J.Abdul Kalam (2) Vikram Sarabhai
(3) Jawaharlal Nehru (4) C.V.Raman
WW“WWW’WWWW
1) u b S ooma w2 fww F"Wi
-~ PG-EE-2022 (Libr'i‘i-y ey v ‘E‘ < *{p ~——

l " - el R L]
LE“ i P

. e Lh " =) L Tig
i -

o R s ‘:‘.I.hh.l.u._n:all. AR ol
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40. | Patents are which type of information sources :
(1) Primary (2) Secondary
(83) Tertiary (4) All the above
Y= e S B G B A ¥ 7
1) et @) faiEs
3) e (4) g a9
41. | Which of the following is not the correbt method of editing MS Excel cell ?
(1) Press F2 Key (2) Click formula bar
(3) Press Alt key (4) Double click cell
™ O R A P ORE B @ wd R R § & P A R 2
(1) F2 s g1 (2) FHe IR fRE B
(3) Alt Fft Fa1d (4) 8 P 39 f A
42. | SMTP is an acronym for :

(1) Simple Mail Transport Protocol
(2) Simple Mail Terminal Protocol
(3) Simple Mail Transfer Protocol
(4) Simple Mail Transition Protocol
ag w1 & 6 i & ag 98
(1) ferga A giaard M

) fem fa e S

@) fome @ 2wt Mewi
(@) fge Aa giforee dEid

ii PG-EE-2022 (Library & Information Science) Code - C
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A computer has a main memory of 960 Kbytes. What is the exact number

of bytes contained in this memory ?
(1) 960x8 (2) 96Q x 1000
(3) 960 x 1024 (4) 960% 1024 x 1024

Wﬁwmsﬁow%lﬁmﬁw%w@mﬁ_‘l
R e & 7 .

1) 960 X 8
(38) 960x 1024

(2) 960 x 1000
(1) 960 1024 x 1024

44. | In a computer, if 8 bits are used to specify the address in memory, the,fi '
total number of addresses will be :
1 8 (2) 256
(3) 216 (4) 512 13
% HYX 9, R few & A AN § @ saw & R e g, E A 7|
e g
(1) 8 (2) 256
@) 216 (@ 12

45. | Which of the following denotes an error in a computer program ?
(1) Bug (2) Virus
(3) Spam (4) Bit
ﬁwﬁmﬂﬁﬁaﬁq—mwwﬁ\mﬁgﬁm% ?
() T (2) ™
3 @m 4 R

PG—EE—2022 (Library & Informazsllg)n Science) Code C o
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46. | Put 11:{1e folloy;ix%g utnits ;f st_oragg into the correct order, starting with the
5 B ) Mogabyto () Torohyte (&) Claaburto Bt AOTSe
Give your answer from the following code : £

1) @, ®), @, ), @, @ ®, b), @), @d),e), @

@) @, ), (@), ), ), d @ &, ®), (@), @), (), () _

©Re & o 3 @ e B e T Te o S8 3C 98 H TEd
W T TR (a) FRIERE (b) TR (c) WM (d) ERE (e) W T&E () fe

Fr=fofed $is § o9 I AT
@® @ ©), @, @, @ @ O b) @) d e
@ @, M), @, @, @C),d @ © ) @, e

47. | Which of the following is a type of memory circuitry that holds the
computer's start-up routine ?

(1) RIM (Read Initial Memory)

(2) RAM (Random Access Memory)

(3) ROM (Read Only Memory)

(4) Cache Memory ' L

Rrfefee & @ PF-a1 00 wfbed &1 JeR ¥ S FY & RR-Y &N A
Hewed & ¢ 5

(1) RIM (f= 3HRma 741)

@) RAM (=9 T FHI)

3) ROM ({8 &limell 7H)

4) 39
48. | Which of the following Dynamic Web Documen?; Format ?

(1) CSS (2) PHP b
(3) HTML (4 XHTML
P & - S 39 S B §
(1) # oH ud @ ftwmd
@) T d WU ) W EATW W@

PG-EE-2022 (Library & Information Science) Code - C
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49.

What is OCR ?

(1) Converting a scanned image into a text file
(2) Indexing a PDF file

(8) Converting text file into an image

(4) Scanning text file '

NG aRFME?

(1) @< 59 F IR FRA § F_al
©2) T G 2 T BEA B TR BN
(38) TR A & A H FE

(4) FTRT BEA B AT BN

'50. | Which one of following is known as read/write memory
(1) ROM (2) RAM
(3) DVD (4) Hard Disk
Rreffad & A AF-ar Js/tEe 30 § & S A ?
(1) ROM (IW) 2) RAM (W)
3) DVD (& 4 ) @) e R
51. | The monthly incomes of X and Y are in the ratio of 4 : 3 and their monthly

expenses are in the ratio of 3 : 2. However, each saves 7 6,000 per month.
What is their total monthly income ?

(1) 28,000 (2) 742,000
(3) 756,000 (4) 784,000

X qa1 Y %) AR ST 1 S 4: 3 ¥ T ITH MR T F I 3 : 2%1 ;

3 2t 7 6,000 4T A1E A € | I fo ARG o Feee ® 7
(1) 28,0007 (2) 42,0007
(3 56,0007 (4) 84,0007

PG—-EE-2022 (Library & Information Science) Code - C

(14)

Scanned with CamScanner




B -

Set-X

Code -C
ﬁ“ﬁ‘f Questions
52. | Mumbai : Maharashtra : Ahmedabad : ?
(1) New Delhi - (2) Gujarat
(8) Uttar Predesh (4) Madhya Pradesh
TR WERT : OEHRER : 7
(1) T Red @ TRE
@) SWRY (4) T R
53. | A student's performance is dofnpared with another student in which type
of testing ? '
(1) Criterion-referenced testing
(2) Diagnostic testing
(8) Summative testing
(4) Norm-referenced testing
T el & gesie @l e o fEnl @ R geR  qdeer § & ot 8
(1) AMETS T e
2) Wi e
3) AMHE qhET
(4) A% G e
54. | CALANDER is coded in a code as CLANAEDR. Find the code for
CIRCULAR under the same rule.
(1) LACANDER (2) CRIUCALR
(3) CLANADER (4) CIRCULAR
CALANDER # %z CLANAEDR | g a9 @ CIRCULAR & %g i
i
(1) LACANDER (2) CRIUCALR
(8) CLANADER .+ (4) CIRCULAR

[P —
PG-EE-2022 (Library & Information Science) Code - C
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55. | Sanjay sold an article at a loss of 25%. If the selling price had been increageq

by ¥ 175, there would have been a gain of 10%. What was the cost price of

the article ? .

1) 7500 @) T 400
3) %350 (4) 7750 |
W ¥ b G 25% @ e ov 3911 AR R I A T 175%@“6@&9‘
10% 1 T 8N | §F & @ 969 0 e 1
th" eog™ (2) 7 400
(8) %350 (4) ¥750

|
|
Al
J
g
1
1

56.

A, B and C are intelligent, A, D and E are laborious, D, C and E are honest | L
and A, B and E are ambitious. Which of the following are not honest ? |

(1) CandA 2 AandD
(3) AandB 4) C,AandB i
A, BT C fReq ¥ 1 A, Dl E o 81 D, C 1 E $9FER § T A, Baen|
E Feriel § | e § § @i g T 7 |
(1) CTIA 2) ATID

(3) ATINB (4) C,ATB

87.

»-EE-2022 (Library & Information Science) Code - C

Anil played 8 cricket matches. The mean (average) of the runs was found
to be 80. After playing four more matches, the mean of the runs of all the |

matches was found to be 70. The total runs made in the last four matches:J |
is :

(1) 400 @) 200
(3) 300 (4) 100 i
W%SW%@%I@WW(@M)SOW'mth%V
Mﬁﬁ%ﬁHWWWIWWﬁaﬁwﬁ@mﬁmm |
(1) 400 @) 200
(3) 300 | 4) 100

i'

(16)
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58.

The below statement is followed by two assumptions. Réad the statements

and choose the appropriate option given below :
Statement : Ravi is too intelligent to fail in the examination.
Assumption I : Very intelligent boys do not fail in the examinations.

Assumption II : Those who are not intelligent at all may fail in the

examinations.

Choose the most appropriate option.

(1) Assumption Iisimplicit (2) Assumption IIis implicit
(3) BothIandII are implicit (4) Neither of them is implicit
Frfofead FoF @ 9% 3 7 & TS | BE @ uied g e Ry 1 o
R & R

FIF : 9 qhE § oTHEd B @ 6§ GAUE JREEH 8|
gl 1 its gfaHe e e § oret T8l el |

A4l 11 : & S gReHM el € 90am § oTahel & Hehd & |

T ofm fded & = IR

(1) o 1 srfifed ® |

@) " 11 araffee 8 |

(3) Iqem II &Mt arififed &

@) T FE A oriied T 81

—EE-2022 (Library:& Information Science) Code - C
, v '

(17)
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59. | Below are two statements, one labelled as Assertion (A) a x‘,.

@ R g ¢

labelled as Reason (R). Read the statements and choose the correct answer“:

using the options given below :

mension. |
Assertion (A) : Classroom commumcatmn has a cultural di ,‘;

Reason (R) : Beliefs, habits, customs and languages are the cultural

characteristics of communication.

Choose the correct option :
(1) Both (&) and () are true, and (R) is the correct explanation of (A" [
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false 3
(4) (A) is false, but (R) is true e
S 2 g R W ¥ w5 o (A) BRA & @ gEa sre (R) Rl %n
Forl 3 afed qar T RY T Rt B AT 0 TR B A i
e (A) : FETHY TN A WEGRES ST A & |
oo (R) : P, o, AR qem ey whe @ o)
A frdard 2 | 1

(1) (A) @ (R) & & ¥ 7o (A) # (R) w8 e ¥

@ (A) @ (R) 3 7 §, WY (A) # (R) & awew 76 2
@) (A) 7@ B, g (R) o9 & |

() (A) o &, g (R) ¥ ¥

PG-EE-2022 (lerary & Information Science) Code C

(18)

" Scanned with CamScanner



Scanned with CamScanner




Set - X
Code-C

|Question
No.

Questions

62,

The UNESCO World Heritage Site Hampi is located at the banks of which
river ?

(1) HemavatiRiver (2) KaliRiver

(8) Tungabhadra River (4) Kabini River

e @1 sy e T o B T @ B Red © 7
(1) BHmE I (2) Fl T

(3) eI T (4) FieAl T

63.

PARAKH stands for :

(1) Performance Assessment Review and Analysis of Knowledge for
Historical Development

(2) Performance Analysis Review and Assessment of Knowledge for
Holistic Development

(3) Performance Assessment Review and Analysis of Knowledge for
Holistic Development

(4) Performance Assessment Report and Analysm of Knowledge for
Historical Development

PARAKH & T &9 ¢ :

1) mﬁm@@%ﬁq%wﬁ%mm@am%@ﬁ%w
@) W T R T e ot A %R EiRed ST
(3) WY TaEd Rl e T o6 Fids $iX elfiites Saaqi-e
@) T wEEie Rue e TiRE ot o B RRIRE Saaei<

64.

| @ HicmT G

Who got Jnanpith Award in 2022 ?

(1) Damodar Mauzo

(2) Nilmani Phookan Jr

(8) Akkitham Achuthan Namboothiri
(4) Nilamani Phookan

2022 & FFdC JUERR fhe T fopar ?
(1) e A

2) e G A
3) R oregE TRR

PG—EE—2022 (lerary & Information Science) Code - C

(20)

Scanned with CamScanner o




Scanned with CamScanner



Scanned with CamScanner



Set X
Code-C

u;s;.mn Questions

73. | MARC stands for :

(1) Magnetic-Readable Cataloging
(2) Micro-Record Cataloging

(8) Machine-Readable Cataloging
(4) Machine-Record Cataloging
MARC & T &9 &

(1) Ffeh-Uaa dewiii

(2) EH-REHE SR

(38) AT DT

@) FNF-REE D@t

74. | Which of the following is an Open-Source Integrated Management System

(ILMS) ?

(1) E-Granthalaya (2) SOUL2.0

(8) Koha (4) LibSys7

Bt 3 @ A-ar S ges FE R (ILMS)%
1) T (2) SOUL2.0

(3) el (4) LibSys7

75. | Citation Index was invented by :

(1) Eugene Garfield (2) Neelameghan
(3) Polanyi (4) Mahalanobis
ARSI e 1 SEShIY foh -

r(l) ol RGeS o @) A |

@) darE J (4) WETHEE A

'PG-EE-2022 (Library & Information Science) Code - C
(23)
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92. | TCP, UDP and AAL are -

(1) Transport layer protocols (2) Application protocols

() Networking layer protocols (4) Communication protocols
SRR AR SR R R

(1) T TR AT (2) oo S
(3) T FIT St (4) FYFBI Wb

93. | Which of the following is considered as India's first supercomputer ?

(1) Aditya (2) Param Shivay

(3) Vikram-100 (4) Shastra T. Kilobytes

i & & SIF-61 9RA F ee gux HFEe AT O § 7

(1) s 2) T Ram

(3) fapA-100 4) T & s

94, | Which of the following is an example of application software for a

computer ?

(1) MS word (2) MS excel

(8) Both (1) and (2) (4) MS Dos

% HET % 8 TSI Hieddy & U Seel R § @ @i e ?
| () T TE (2) T TH TR
;,, @) (1) (@) 3 (4) T TH o
- PG-EE-2022 (Library & Information Science) Code - C

(27)
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5. | Which of the following is not imnge format ?

() img (2) .png
@ uf 4) Jpg
Fretifor & § df-8 g e W@ B 7
(1) Jmg (2) png
@ .l 4 Jpg

96, | Which of the following is a name of a webpuge nddress ?

(1) Directory (2) Protocol
(# URL (4) Site
frafity 7 & S-m 3 e AN E 7
(1) EE (2) S
(3) § =T O (1) TEZ

97, | HTML stands for

(1) HighText Machine Langungs

(2 Hyper Technology and Links Markup Language
(3) Hyper Toxt Murkup Language

(4) Hyper Tochnology Machine Langunge

o o o # e b

1) e A @ h 1
(@) WYY FWE AHHY A mmhﬂiﬂﬁ# i f

PG-BE-2022 (Library & Information Science) Code < €
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against him / her,in addition to lodging of an FIR with the police. Further the
answer-sheet of such a candidate will'ngt'be evaluated.

3. Keeping in view the transparency of thé examination system, carbonless OMR: -
Sheet is provided to the candidate s hat a copy of OMR Sheet may be kept by

. the candidate. : s . '

4. Question Booklet along with answer key of all the A,B,C and D code will be
uploaded on the university website after the conduct of Entrance Examination.
In case there is any discrepancy in the Question Booklet/Answer Key, the same
may be brought to the notige of the Controller of Examinations in writing
within 24 hours of uploAding the same on the University Website.
Thereafter, no complaint i any case, will be considered. .

5  The candidate MUST NQT do any rough work or writing in the OMR Answer-
Sheet. Rough work, if afy, may be done in the question book-let itself. Answers
MUST NOT be tickedin the Question book-let.

6. There will be no negative marking. Each correct answer will be awarded
one full mark. Cutting, erasing, overwriting and more than one answer
in OMR Answer-Sheet will be treated as incorrect answer.

7. Use only Black or Blue BALL POINT PEN of good quality in the OMR Answer-

Sheet,
8. BEFORE ANSWERING THE QUESTIONS, THE CANDIDATES SHOULD

ENSURE THAT THEY HAVE BEEN SUPPLIED CORRECT AND COMPLETE
BOOK-LET. COMPLAINTS, IF ANY, REGARDING MISPRINTING ETC. WILL
NOT BE ENTERTAINED 30 MINUTES AFTER STARTING OF THE

EXAMINATION.

book-let as well as OME XS

e leaving the Examination Hall =7 =T



Set - X

Code-D
“;sot‘.ion Questions
1. | What is the other name for Primitive Germanic ?
(1) Esperanto (2) Ttalic
(3) Gothic (4) Teutonic
9. | Language is a social phenomenon.
(1) True (2) False
(3) Both (1) and (2) (4) None of the above
3. | Which of the following word is a Portmanteau word ?
(1) Nickname (2) Electrocute
(3) Enthusiasm (4) Convivial
4. | The term "idiom", derived from Greek, means
(1) Standingaparton its own
(2) The words of the wise
(3) Having a great idea
(4) A state of being
5. | The study of the historical evolution of the meaning of words is called
(1) Semiotics (2) Phonetics
(3) Articulation (4) Semantics
6. | 'Kindergarten', an English word, is derived from which language ?
(1) Latin (2) German
(3) Norse (4) Italian
7. | The quality of sounds that makes it possible to judge their "highness" or
‘_"lowness" is
(1) Tone (2) Pitch
(3) Musical (4) Loudness

PG-EE-2022 (Library & Information Science) Code - D

(1)
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8. | How many distinctive gpeech sounds or phonemes are there in English
(Received Pronunciation of England or RP English) ?
(1) 42 (2) 4
(3) 46 (4) 48
9. | Identify an abstract noun from the words given below :
(1) iron (2) cattle
(3) thomas (4) pain
10. | Cannon had unique qualities it was used widely in ancient
times.
(1) such, that (2) such, so
(3) that, since - (4) that, that
11. | Raja Ram Mohan Roy Library Foundation (RRRLF) is a supporting body
for :
(1) Publiclibraries (2) Academic libraries
(3) Special libraries (4) School libraries
Tl T AT T AR FOSy (RRRLF) TF 6 el §
(1) FEvF Jerrr @ @) s JEIHREr B
3) fafire gwrmmEr (4) W@ JEiHEl Dl
12. | The headquarters of the World Intellectual Property Organisation (WIPQ)

is located at :

(1) Vienna (2) Toronto

(3) London (4) Geneva
ﬁﬁmmm(wmo)mg@mﬁm%:
() P & (2) 7

3) = H @) ¥ §

PG-EE-2022 (Library & Information Science) Code - D
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13. | The Berne Convention was a pioneer convention in the field of :
(1) Protection of wildlife

(2) Protection of intellectual property rights

(3) Protection of victims of wérs

(4) Protection of human rights‘ |

T FaE P & F TH S Hraer o

(1) TG HET

@ MeF TR ARER B T H

@) 3= G & qw A

(@) TR B T

14. | Which one of the following is not a scholarly search engine ?

(1) Mozilla Firefox (2) BASE
(3) JURN (4) Google Scholar
P & @ BF-A1 @ §9 go T § 7
(1) AT FETHT (2) ¥4 (BASE)
3) ¥ (JURN) (4) T @R
15. | CODEN is related to :
(1) Books (2) Serials
(3) Reports (4) Gray Literature "
CODEN &1 @+ & : T
(1) g& 8@ ©(2) T |
@) fae & 4) 7wt §

PG-EE-2022 (Library & Information Science) Code - D
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16. | The headquarter of the International Federation of Library Associations

(IFLA) is situated at SO

(1) Hague (2) Paris

(3) New York (4) Delft

TN G % A TR (IFLA) &1 qe Reg §
(1) B H 2 e ¥

@) e A @ =T

17. | MOOCs stand for :

(1) Ministry of Oil, Ocean & Corals

(2) Massive Open Online Courses

(3) Members of Open Oxford Curriculum
(4) Miners of Quter Canada

MOOCs % Tof &9 ¢ :

(1) PRER ol offgw, o @08 P
2 ¥fE A T By

() ¥ b ST S g

(4) TETH 3% ¥ FE

| 18. | WORLD BOOK and COPYRIGHT DAY 1o colebrated every year on -

(1) April 23 » (2) ‘May 23

(3) June27 _ (4) November 21
IR I T T 2 5AF 9§ g o D
(1) o 23 ©2) W 23 %

3) T 27® (4) Ta=T 21 R

PG-EE—2022 (Library & Information Science) Code - D
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19. | The famous book, "The Discovery of India" is written by :

(1) A.P.J.Abdul Kalam (2) Vikram Sarabhai
(3) Jawaharlal Nehru (4) C.V.Raman

s gEE € Rl ol R @ aw foredh T
M TR I oI FIH (2 T AR

(3) TAREX d| \8w @) 4. @
20. | Patents are which type of information sources :
(1) Primary (2) Secondary
(3) Tertiary (4) All the above
YeeH 60 9N @ I B A § 7
(1) s A REGILE]
(3) Fas (4) ST w0
21. | Which of the following author from India has won the 2022 Booker
International Prize ?
(1) Geetanjali Shree (2) Arundhati Roy
(3) ChitraBanerjee Divakaruni (4) Sudha Murty
Frfefed & & fF qE® 3 9Ra § 2022 F ARG TP [TEBR S & 7
(1) iister 4t (2) Irs-Hiq
3) fRem gl Rawpeeh (4) g it
22. | The UNESCO World Heritage Site Hampi is located at the banks of which

river ?

(1) Hemavati River (2) KaliRiver

(3) Tungabhadra River (4) Kabini River

Zeh 1 faeq ad e o B @ & R R ¥ 7
(1) BHmEd T 2) #rft TR

@) g T (4) e &

PG-EE-2022 (Library & Information Science) Code - D
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23. | PARAKH stands for :
(1) Performance Assessment Review and Analysis of Knowledge for
Historical Development
(2) Performance Analysis Review and Assessment of Knowledge for
Holistic Development
(3) Performance Assessment Review and Analysis of Knowledge for

Holistic Development

(4) Performance Assessment Report and Analysis of Knowledge for

Historical Development

3) WWM@EW%WW@WW
4) WWWW@@W%WWWW

24.

Who got Jnanpith Award in 2022 ?

(1) Damodar Mauzo

(2) Nilmani Phookan Jr

(3) Akkitham Achuthan Namboothiri
(4) Nilamani Phookan

2022 & Fde qTERR fea o far 7
(1) T A

() e g JFET

3) afEpgd sreged TR

(4) i G

PG-EE-2022 (Library & Information Science) Code - D
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25. | Which of the following state is known as the Land of the Rising Sun ?
(1) Madhya Pradesh (2) Arunachal Pradesh
(3) Andhra Pradesh (4) Himachal Pradesh
Refofed & & 9-01 T IR GRo A 9 B &9 F S S @ 7
(1) 7 W7 (2) ITEITE HR
(3) S Hed (4) R SR

26. | Which of the following prize in mathematics is equivalent to Nobel Prize ?
(1) Academy Award (2) Booker Prize
(3) The Fields Medal (4) Pulitzer Prize
FReiciee & -1 T & JeER Aed g & 4o € ¢
(1) TsHl J6&R (2) THC JHER
3 T Wlgd A=A @) YRR J5ER

27. | Which of the following author from India has won the Pulitzer Prize ?
(1) Amitav Ghosh " () Siddhartha Mukherjee
(3) Kiran Desai (4) Amartya Sen
e @ Ffafed # @ e a@s 3 JoeR @R S ?
(1) SfyamE 9 2) R gesit
(3) ftor 34 (4) ¥

28. | Raman effect is a discovery of :
(1) Ramanujam (2) Raman Maharshi
(3) J C Bose (4) CVRaman
7 999 feaat @ 8 7
(1) T @ T et
3) . d. 94 4 @& v

PG-EE-2022 (Library & Information Science) Code - D
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929. | India's current Vice President is :
(1) Mohammad Hamid Ansari (2) KR Narayanan
(3) Jagdeep Dhankhar (4) O P Kohli
o § 9Rd B SN €
1) Hewe s s 2) . AT, TEH
(3) SR UTES @) an. @ det
30. | Who is the Head of Dept. of Library and Information Science, MDU
Rohtak ?
(1) Anil Kumar Siwach (2) Nirmal Kumar Swain
(3) PinkiSharma (4) Sanjiv Kadyan
@ﬁgﬂmﬁwﬁwﬁwﬁw%ﬁmwzﬁ?%?
1) A AR (2) Frfe AR &
@) fh (4) TSl FAT

31. | World Wide Web was first designed by :
(1) Charles Babbage 2 F.W. Lancaster
(3) Ted Nelson (4) Tim Berner's Lee

a%émsgaaaa‘nw%ﬁﬁm: -
1) aE a9 | @) TF =Y Jpeel |
3) ¥ q | (4) o &3

32. | TCP, UDP and AAL are:
s (2) Application protocols

(1) Transport layer protoco
(3) Networking layer protocols (4) Communication protocols

aﬁlrﬁ,q\sﬁ@famqqqa%: |
(1) e §AT AR (2) R S
(3) Seardm FAT S (4) FYAHI MBI

PG-EE-2022 (Library & Information Science) Code - D
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/ 33. | Which of the following ié considered as India's first supercomputer ?

(1) Aditya (2) Param Shivay
(3) Vikram-100 (4) Shastra T. Kilobytes
frfofed & & $-81 9RT #1 g6 YO HGET HE1 I & 7
(1) o @) T fREg
(3) fam-100 @) g 8. fraEed

34. | Which of the following is an example of application software for a
computer ?
(1) MS word (2) MS excel
3) Both (1) and (2) (4) MS Dos
0% HX & o) TSI WHeaay P T IaE Frfrad & § Bi-a1 & ?
() ™R (2) T TH
(3) ()T (2) M (4) ™ U 2

35. | Which of the following is not image format ?
(1) .img (2) .png
3 tif 4 .ipg
e & & F9-a1 379 BRAC TE 8 7
(1) .img (2) .png
(3) .tif 4) .Jrg

36. | Which of the following is a name of a webpage address ?
(1) Directory (2) Protocol
(3) URL (4) Site
feffd & @ -8 d9997 TgH Pl AW 8 7
(1) sEE (2) S
3) 7 I ud (4) W<

PG-EE-2022 (Library & Information Science) Code - D
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37. | HTML stands for:

(1) HighText Machine Language
(2) Hyper Technology and Links Markup Language
(3) Hyper Text Markup Language

(4) Hyper Technology Machine Language
WA R

(1) TR IR 90 A (2) mm@mﬁ%méauﬁﬁﬁ
(8) TRW T U@ AAW  (4) BEUW K ALH

| (1) Circuit switching (2) Packet switching
\ (3) Message switching (4) None of the above

SR Jeadh BhR Jar @ Rafi Re § 2
(1) wfe Rafem

| 2) e Refi
* 3) e Rafii (4) R ¥ § A 7
| PG-EE-2022 (Library & Information Scienc

38. | Computers on the internet are i'entified by :
(1) IP address (2) E-mail address
(3) Street address (4) System preference
T W FYEX B Tegd o §
(D) % ¢ @ g () §-99 GH &
(3) I wgH a™ @) foen B s
39. | Which of the following software is preferred for big data visualization ?
(1) HTML Programming (2) MS Project
(3) RProgramming (4) Adobe Capture
% i T 3 R PR % 3 A ¥ v @ e & o d 2
(1) @& @ o g 2) T T T
(3) SR T (4 ©N F=R
40. | Which type of switching system is the telephone network ?

1 (10) ®) Code - B
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41. | The monthly incomes of X and Y are in the ratio of 4 : 3 and their monthly
9. However, each saves 7 6,000 per month.

expenses are in the ratio of 3 :
What is their total monthly income ?
(1) ¥28,000 (2) 742,000

(3) 756,000 (4) 784,000
xammﬁmﬁmmawgqmms%ammqmmwmms:z%l
aaﬁw,ooonﬁrwwﬁ%laﬂaﬁﬁaqﬁzﬁmm%?

(1) 28,0007 2) 42,0002
(3) 56,000%F (4) 84,000%

42. | Mumbai : Maharashtra : Ahmedabad : ?
(1) New Delhi (2) Gujarat _

(3) Uttar Predesh (4) Madhya Pradesh

g : TR ¢ G ¢ !

(1) T Rt (@ T
3) S WA 4) 7F WA

43. | A student's performance is compared with another student in which type
of testing ? ‘

@ e ThE

(1) Criterion-referenced testing
(2) Diagnostic testing
(3) Summative testing

4) Norni-referenced testing
@M%mﬁaﬁwmﬁmﬁﬁmmmﬁmﬁﬁm%?

(1) AFEvE Gra e
@) e gheT

@) wHF g qha

PG-EE-2022 (Library & Information Science) Code - D
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44. | CALANDER is coded in a code as CLANAEDR. Find the code for

CIRCULAR under the same rule.
(1) LACANDER (2) CRIUCALR
(3) CLANADER (4) CIRCULAR

CALANDER # %g CLANAEDR 2| &t f7m & CIRCULAR # %2 s
P -

(1) LACANDER (2) CRIUCALR
(3) CLANADER (4) CIRCULAR

45. | Sanjay sold an article at a loss of 25%. If the selling price had been increased
by ¥ 175, there would have been a gain of 10%. What was the cost price of
the article ?
(1) % 500 (2) T 400
(3) 350 (4) 750
W%@Wzs%aﬁaﬁwémlqﬁﬁmrﬁqﬁt 175 991 fRar 91 &
10%zsrwa1mmqﬁ$rmwwm?
(1) % 500 (2) ¥ 400
(3) %350 4) 7750

46.

A, Band C are intelligent, A, D and E are laborious, D, C and E are honest
and A, B and E are ambitious. Which of the following are not honest ?

(I) CandA (2) AandD
(3) AandB (4) C,AandB

A,BmC@W%uA,Dmeﬂa%m,CWEW i
B ecridl €| Rt o 2 @ e 81 3 9 FHA B

(1) CTarA @ ATHD
(3) ATaB 4) C,AqqR

PG-EE-2022 (Library & Information Scien
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47.

Anil played 8 cricket matches. The mean (average) of the runs was found
to be 80. After playing four more matches, the mean of the runs of all the
matches was found to be 70. The total runs made in the last four matches
is :

(1) 400 (2) 200

(3) 300 (4) 100

S 3 8 e M | T @ e (o) 80 TeT | A K Ae T @ uvE,
w8 & T & W 70 <@ ad R A= A I g9 e W @

(1) 400 | (2) 200
(3) 300 (4) 100

The below statement is followed by two assumptions. Read the statements
and choose the appropriate option given below :

Statement : Ravi is too intelligent to fail in the examination.
Assumption I: Very intelligent boys do not fail in the examinations.
Assumption II : Those who are not intélligent at all may fail in the
examinations.

Choose the most appropriate option.

(1) Assumption Iisimplicit (2) Assumption II is implicit .

(3) Both I and II are implicit (4) Neither of them is implicit

P Fo9 & @ & AR & T ¥ F B ol qun e R T SR
feer & gFa -

Fo « 0 o oTwd ©d @ fedd A St R B |

e 1 : o g @eh TOaT § ot et e |

i 11 ¢ 3 o g Aé € ol 7 ored & wed ¥

(1) a1 e €| 2) e 11 awafifeer @ |

@) 1aar 18t orafiied & (4) T A R o orriea T R

PG-EE-2022 (Library & Information Science) Code - D
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49. | Below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R). Read the statements and choose the correct answer
using the options given below :

Assertion (A) : Classroom communication has a cultural dimension.

Reason (R) : Beliefs, habits, customs and languages are the cultural

characteristics of communication.
Choose the correct option :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false
(4) (A)is false, but (R) is true
A= & o RY M ¥, o N (A) Rt & qor gERr FROr (R) RiRe 3
m#mammaﬁa@m@wmmeawwmml
FEHT (A) © FHHE T N GGRE A A ¥

01 (R) : fwamd, omd, Ofy-Ram T AT i
fagroard &

w2l fawe g

(1) (A)am(R)ﬁw%am(A)qﬁ(R)gam§|
(mWw@ﬁW3WW#®wmmm,
@) (A) @@ &, 9] (R) s ¥ |
(4) (A) o B, 70 (R) 7 ¥

PG-EE-2022 (Library & Information SCience)E_Jd e-D -
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50. | Which of the following statement (s) regarding the term ICT is/are true ?

P: A digital divide is an economic and social equality with regard to

access to, use of, or impact of ICT,

Q ICT helpsininternational developrﬁent by bridging the digital divide

and providing equitable access to technologies.
Choose the correct option :
(1) Ponly | (2) Qonly
3) PandQ v, (4) Neither P nor Q |
Prefied & & B &1/8 B ICT 9= & & & w82 7

P: Rftes Rare ICT & 9, 6 AT S1oaT 36 0% Tge & q-g | o
T W F & B |

Q: ICT%MWWWWWWW@WW
T e  wees 2w R g

(1) % P @ W Q
3) Paw Q . @TWPTQ

5l.

' (3) Arithmetic mean (4) Mode

Which of the following gives the middle most observation in a series ? -

(1) Average (2) Median

ﬁwﬁf@ﬁﬁﬁﬁﬁ-mwﬁmqmwmﬁwm’w%?
(1). sfed | (2) wfeaeH
(3) TR "I () T

G—EE—2022 (Library & Information Science) Code - D
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. 52. | How many can meaningful English words be formed with the letters ESRQ
using each letter only once in each word ?
(1) None - . (2) One
(3) Three 4) Two
el ESRO @1 S8 it Read Syl i amd off T & e TE
T 9§ B O AW I ?
(1) 3K T 2) T
3) @) a
53. | Choose the missing terms from the given alternatives DHL, PTX, BFJ?
1 Kos - (2 NRV -
@ CGK . . . (4) OIK |
[ T Redl DHL, PTX, BFJ ? % 951 & w9 3 R g3
(1) KOS (2) NRV
@ CGK (4) OIK
54.

A girl introduced a boy as the son of the daughter of the father of her
uncle. The boy is related to a girl as : il

(1) Brother (2) Son-in-law

(1) ¢

@) g e (4) SfFq
PG-EE-2022 (Library & Information Science)
. ode
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55. | Introducing Rakesh to her husband, the woman said, "His brother's father

is the only son of may grandfather". The woman is related to Rakesh as :
(1) Aunt (2) Mother
(8) Sister (4) Daughter

WY F IR 37 g o of @ wRn ¥ w9 A # e A #
A O3 X1 SH SR & B9 § Te T ©

(1) ot (2) I
@) & 4) P
56. | Find binary equivalent to 85:
(1) 1101010 (2) 1010101
(3) 1010110 (4) 1001101
85 F1 AT A S DI :
(1) 1101010 (2) 1010101
3) 1010110 (4) 1001101
57 | Pick out the odd one from the following Word Pairs.
(1) Birds and Chirp (2) Dogs and Cook
(3) Elephant and Trumpet (4) Lion and Roar
Preffefan sreeget # & o # eifed
(1) Birds d4r Chlrp S (2) Dogs @41 Cook
(3) Elephant d¥l Trumpet (4) Lion T Roar
58. | Find the missing numbers : 101, 103, 107, 109,

) —

(1) 111,115 2) 113,127
3) 113,117 (4) 111,121
g ste & 7@ @i ¢ 101, 103, 107, 109, s
(1) 111,115 (2) 113,127
@) 113,117 (4) 111,121

PG-EE-2022 (Library & Information Science) Code -
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59. | Aditya walked 15 m towards the south and took a right turn, and walked

3 m ; he took a right turn again and walked 15 m before stopping.
Which direction did he face ?

(1) East (2) West
(3) North (4) South

SR e A o 16 1. s ol et ol meaT 3 AL e ; 9 I T AN
TR &4 @ Teat 16 9. =, o a€ fHhE R § e w1 @ w7

O o (2) =
3) IW (4) &

60. | Atraintravelled at an average speed of 100 km/hr, stopping for 3 minutes

after every 75 km. How long did it take to reach its destination 600 km
from the starting point ?

(1) 6 hours 24 mins (2) 6 hours 21 mins
(3) 6 hours 18 mins (4) 6 hours 27 mins

T £ 100 6.4, Sireler #t o i & == B, o R 75 . ) 3 e & R
BRI &1 98 A NG W F 600 B, B g0 7@ B F B T a4 2

(1) 692 24 faFe (2) 64221 fiFe
(3) 69218 e 4) 64227 e

61. | Choose the proper alternative given in the code

' to replace the question
mark. Cow-Milk ; Bee-Honey; Teacher- ? .

(1) Marks (2) Discipline

(3) Wisdom (4) Lesson o
nwﬁaa%wwm%mmﬁ&mmhmgﬁa;
TA-28 ; HYNFEI-9TT ; ST 7 .
(1) o (2) TS |
(3) g (4) ure

PG-EE-2022 (Library & Information Sclanmoy o ——— i
asy - oree) Code -
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62. | If1=1, 2=4, 3=10 and 4=22, then b="?
1 39 (2) 34
(3) 44 (4) 46
R 1=1, 2=4, 3=10 qUT 4=22, @ 5="?
1) 39 @) 34
@3 #4 (4) 36

63. | The next term in the series: 2, 5, 10, 17, 26, 37, ? is
(1) 50 () 57 .
3) 62 ‘ 4) 72
2,5, 10, 17, 26, 37, ? 3t T ST 0 & :
(1) 50 (2) 57
3) 62 (4) 72

64. | The arithmetic mean of the first 11 natural number is
(1) 5.0 (2) 5.5
(3) 6.0 4) 6.5
S 11 MRS Gl & WHRR A §
(1) 5.0 (2) 55
3) 6.0 (4) 6.5

65. | How many rotations will the hour hand of a clock complete in 72 hours ?
(1) 3 (2) 6 |
3) 9 | (4) 12
w o 41 92 ard gg 72 qe A R QeI Q@ Tl 7
(1) 3 (2 6
(3) 9 4) 12

PG-EE-2022 (Library & Information Science) Code - D
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66. | Which of the following is the decimal equivalent of 1011

(1) 49 (2) 52
(3) 53 (4) 47
Frafafad § & @ @ 101111 @ &9d g 8 7
(1) 49 (2) 52
(3) 53 4) 47
67. | IfA+B=96and A is half of B, then the value of A will be :
(1) 22 _ 2) 32
(3) 48 (1) 64
IS A+B=96T0 A, B & e & o A F HE BT
(1) 22 (2) 32
3) 48 (4) 64
68. | A number, when multiplied by 13 is increased to 195 the number is :
1) 5 2) 12
3) 15 (4) 45
T & & AR 13 /@ o7 B 9@ @ 98 95ET 195 o o &1 g8 gew b
1) 5 2) 12
3) 15 4) 45

69. | Choose the figure which is different from the rest.

O @ (N \) |
M @) 3) (4)
W S B FET AR A o Y e B

(1) (2) (3) (4) |

PG-EE-2022 (Library & Information Seienom mi——
a0y enee) Code D
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70. | Insert the arithmetical signs in the following numerical figure.
9 6__3=27.
(1) + X 2 -+
@ /+ 4) +,/
Prfa e TG 7 sl foe aRa19__6__3=27
(1) +X @) -+
@) L+ 4 +/
71. | Which of the following is not the correct method of editing MS Excel cell ?
(1) Press F2 Key (2) Click formula bar
(3) Press Alt key (4) Double click cell
@meﬁwmﬁﬂﬁﬁﬁﬁﬂﬁmﬁﬁﬁﬁﬁ-@ﬂﬁ%?
(1) F2 Fpoft T (2) W IR B B
(3) Alt i F& (4) ¥ P ST B BE
72. | SMTP is an acronym for :

(1) Simple Mail Transport Protocol
(2) Simple Mail Terminal Protocol
(3) Simple Mail Transfer Protocol
(4) Simple Mail Transition Protocol
T og & ¢ Frefiied & qg 98
(1) foe A grEde Ser

(2) fore e efife e

@) fame e el S
4) foma B gifoee S

PG-EE-2022 (Library & Information Science) Code - D
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73.

A computer has a main memory of 960 Kbytes. What is the exact number

of bytes contained in this memory ?
(1) 960x8 (2) 960 x 1000
(3) 960 x 1024 (4) 960 x 1024 x 1024

T Y B qEA AN 960 Feetared ¥ zw Ay § % w9 8 aEH A
fbel |em & ?

(1) 960x8 (2) 960x 1000
(3) 960x 1024 (4) 960x 1024 x 1024

74. | In a computer, if 8 bits are used to specify the address in memory, the
total number of addresses will be :
(1) 8 (2) 256
(3) 216 4) 512
T FL F, AR Ry w1 @ A A g o B R @ 2, o3w & g
gegr Bl
(1) 8 (2) 256
(3) 216 (4) 512

75. | Which of the following denotes an error in a computer program ?
(1) Bug (2) Virus
(3) Spam (4) Bit
Frfefe & & @M-81 0 Fgex Mo & 3R qomr & 2
(1) 97 (2) aIATH
(3) &@H ) oz

PG-EE-2022 (Library & Information Science) Cm i
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76. | Put the following units of storage into the correct order, starting with the

smallest unit first and going down to the largest unit : (a) Kilobyte
(b) Byte (c) Megabyte (d) Terabyte (e) Gigabyte (f) Bit

Give your answer from the following code :
@ @, ®), @, ©, @, e @ @ 0@, @, ) ©
@) ®, ®), @), @, @), ad @ @ 0) @), ), @ e

SN B P sRd 9 aed 9 g wed e ar 78 g a9 e g
T8 B TR ¢ (a) REEE (b) TEE (0) HINEE (d) TEEE (o) MW AT () e

1 ® o), @, © @ e @ O b, @, e, ©
3) @, ®), @), @, @, @ @ O 0) @, @ 0o e

71.

Which of the following is a type of memory circuitry that holds the

computer's start-up routine ?

(1) RIM (Read Initial Memory)

(2) RAM (Random Access Memory)
(3) ROM (Read Only Memory)

(4) Cache Memory
ﬁqﬁf@ﬁﬁﬁmﬂmaﬁfﬂww%ﬁwa}w@mw&qﬂ
Hard F 8 7

(1) RIM (& gfifma fd)

(2) RAM (Yeq T7E Ad)

(3 ROM (frg o )

(4) &q 74

PG-EE-2022 (Library & Inform

ation Science) Code - D
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78. | Which of the following Dynamic Web Document Format ?
(1) CSS (2) PHP

(3) HTML (4) XHTML

M § @S-8 SEAhS 39 i $Rie B

1) § @ @ T @

(3 WA W () WA W

79. | Whatis OCR ?

(1) Converting a scanned image into a text file
(2) Indexing a PDF file

(3) Converting textl file into an image

(4) Scanning text file

A AR R 7

(1) @S 3o F| R GRA § oo

(2) T @ S Th R A FSEET FA

(3) CHE PIIA H 3N F FEE

(4) T EEA B WAT B

80. | Which one of following is known as read/write memory
(1) ROM (2) RAM

1 (3) DVD (4) Hard Disk

frfeife & & M-8 Ge/T%e 30 & &9 & q9 oy @ o
(1) ROM (1) (2) RAM (W)

3) DVD (3t & &) 4) & fem
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81. | Which of the following sentence is correct ?
(1) Rahim and I Playing chess

(2) Rahim and I are playing chess

(3) Iand Rahimisplaying

(4) Rahim and I was playing chess

82. | Choose the correct sentence : 4

(1) People America much football south very love in
(2) South America people love football much very

(3) People of South America love football very many
(4) People in South America love football very much

83. | Where Ram live ?
(1) does (2) are
(3) do . (4 18

84. | Which of the following sentencé has an error ?
(1) Iwent for a walk with some friends
(2) He is wiser than me

(3) The master tested the boy if he could read English
(4) 1shall see whether the brakes work well

85. | We would never have had the accident if you so fast.
(1) Wouldn't been driving (2) Hadn't been driving
(3) Had driven (4) Wouldn't drive

86. | English food is often considered too ____ for foreigners' tastes.
) Plane (2) Plan’
(3) Plain (4) None of the above

PG-EE-2022 (Library & Information Science) Code - D
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87. | Pick up the correct synonyms for the wor

(1) Falter (2) Kneel
3) Bend (4) Stoop

i 'GRUESOME'
88. | Choose the one which best expresses the meaning of the word ME

(1) Hateful (2) Painful
(8) Tragic (4) Frightful
89. | Words that sound like one another but have different meanings are
called ?
(1) Soundnyms (2) Antonyms
(3) Homonyms (4) Monotonous

90. | Change into indirect speech; Raisa : "Could you bring my book tonight"?

(1) She asked me could bring her bo'ok that night
2) She asked me to bring her book that night

3) She had asked me to bring her book that night
(4) She ésked me to bring her book tonight

91. | Who is the father of Library Science in Indig ?
(1) Dr.S.R.Ranganathan

(2) D B Kl‘lShna Rao
(3) B.S.Kesavan

(4) Ganesh Bhattach
ar i I A5 & e B ¥ 7 o |
(1) 3. TH. AR, T @ 2. A, oy
@) . ta. dEa @) MY werR ;
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92.

When was the first edition of DDC published ?
(1) 1875 (2) 1876

(3) 1874 (4) 1896

& & @ T T F GHIC GO A !
(1) 1875 (2) 1876

3) 1874 (4) 1896

93.

MARC stands for :

(1) Magnetic-Readéble Cataloging
(2) Micro-Record Cataloging

(3) Machine-Readable Cataloging
(4) Machine-Record Cataloging

MARC &l T &9 &

1) FRe-G3Td dewitrT

©2) TEH-RHE B

@) ALF-03T e

4) AR Hem

94.

Which of the following is an Open-Source Integrated Management System
(ILMS) ?

(1) E-Granthalaya (2) SOULZ2.0

(3) Koha (4) LibSys7

R 3 @ @A oA S Aere R (ILMS) @ 7
(1) F-T9d (2) SOUL2.0

(3) el (4) LibSys7
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95. | Citation Index was invented by :

(1) Eugene Garfield: (2) Neelameghan
(3) Polanyi (4) Mahalanobis
TR S & oA e

1) oA eS| @) e |

3) darE 3 (4) TEEERE 3

96. | Which is the correct logical sequence of the following ?
(1) Information, Knowledge, Data, Wisdom

(2) Knowledge, Information, Wisdom, Data

(3) Data, Knowledge, Information, Wisdom

(4) Data, Information, Knowledge, Wisdom

e § § FE-a 98 o g § 7

(1) &, 5, s, ghewmm

(2) ¥, o, e, he

(3) SfbS, M, Terl, e
(4) S, o, ST, e

97. | The correct sequence of information flow is .....___
(1) Massage— Source— Channel— Receiver

(2) Source— Message— Channel Receiver

(3) Message— Channel— Source—, Receiver

(4) Message— Channel - Receiver_, Source ’
I JAlE N TE FH B

(1) HI-> Td— - STTehat

(2) - WI— - Tt

(3) ®WA— A BT STt
(4) e — %Ffﬁ-» W—a E-ﬂ'ﬂ
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In wihch of the following state, the first Public Library Act in India was

98.
enacted ?
(1) Andhra Pradesh (2) Tamil Nadu
(8) Maharashtra (4) Kerala
Rretfeied 3 & Red Tog , S # e Sws G S ) g ?
(1) ST R 2) dMHeTg |
(3) HETTSE 4)
99. | Information and Library Network INFLIBNET) Center is located at :
(1) Gandhinagar (2) Ahmedabad
(3) NewDelhi (4) Mumbai
G T R Tedh (INFLIBNET) &= ferd 3 :
1) TR A 2) ETEEE |
3) T Rl A 4) 7<% ¥
100. | The National Library of India is located at :
(1) Nagpur 2 Madras (now Chennai)
(3) Kolkata (4) New Delhi
o 1 Je Al Red ¢ .
1) g A @ W (o ==E) H
3) @i | (4) & Rt A
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